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Wednesday, November 9, 2011

--- On commencing at 9:33 a.m.

MS. SEBALJ:  All right, if everyone's here, why don't we get started?   My name is Kristi Sebalj.  I'm legal counsel to the Board, and with me, of course, is Martin Davies, who is the case manager.

We are here for EB-2010-0142, a technical conference, and just by way of background, Toronto Hydro-Electric System Limited, which I'll refer to as Toronto Hydro, filed an application dated August 23rd, 2010 with the OEB under section 78 of the act seeking approval for changes to the rates that it charges for electricity distribution to be effective May 1, 2011.

The Board issued a notice of application and hearing dated September 15th, 2010.  On March 25th of 2011, a settlement agreement was filed with the Board which incorporated settlement of most outstanding issues in this proceeding.

On March 29th, 2011, the Board announced its acceptance of the settlement agreement.  Unsettled issues remained in five areas, one of which was the appropriateness of Toronto Hydro's suite metering cost allocation and whether or not Toronto Hydro should establish a separate rate class for multi-unit residential customers that are served directly by Toronto Hydro through its suite metering provision.

On July 7th, 2011, the Board issued its partial decision and order in this proceeding.  Among other things, the partial decision and order found that while all findings in that decision are final and will result in a final rate order for 2011 rates, the Board would require supplementary evidence to be filed on the suite metering issues as outlined in the partial decision.

On July 28th, 2011, the Board issued Procedural Order No. 10, which required Toronto Hydro to file the supplementary evidence by August 31, 2011.  By way of Procedural Order No. 11, issued August 8th, Toronto Hydro was granted an extension until September 30th to file that evidence, and the Board revised the remaining dates established in Procedural Order No. 10.

Toronto Hydro filed its supplementary evidence on September 30th, 2011.  On October 7th, the Smart Sub-Metering Working Group filed a notice of motion requesting a number of things related to the adequacy of the supplementary evidence filed by Toronto Hydro and the scope of that evidence.  By way of Procedural Order No. 12, issued on October 12th, the Board determined that it would hear the motion orally on Friday, October 14th, which it did.  And it made an oral decision and order that same day.

The Board's decision can be viewed at page 51 of the transcript.  In it, the Board made provision for a further round of interrogatories on the evidence, the responses to which were due and provided October 24th, and a technical conference -- the Board also made provision for a technical conference, which is today.

Sorry, I said that they were due and provided on October 24th, and they were due and provided on November 4th.

I should also mention that there is a Procedural Order No. 13, which the parties won't have seen.  It was -- it's due to be issued this morning and may be issued while we sit here, and that procedural order is to deal with -- or to provide steps for written submissions on the confidential treatment that Toronto Hydro has requested with respect to Board Staff IR No. 5 and CCC IR No. 2.

In the meantime, you will have seen an e-mail from Toronto Hydro - I think it was copied to all parties; you may or may not have seen it - which provided a non-confidential redacted version of those two interrogatory responses and indicated that parties would be free -- parties to the proceeding would be free to see the confidential version if they signed a declaration and undertaking.

I do have copies of declarations and undertakings for the purposes of seeing those interrogatory responses, if there are any parties in the room that haven't seen them yet.

I remind all parties that we are in a technical conference.  It is being transcribed.  I think everyone here is seasoned enough to know how the mic system works, but I will remind particularly the witnesses that the green button in front of you is what turns your mic on and a small green light comes on when it is on.  But you are attached to your pod mate, so if you turn your mic off, you will turn your neighbour's mic off as well.  So you may just want to be aware of that.

We obviously do not have an adjudicative panel here today, so to the extent that there are any disputes or objections, those will just be noted on the record and referred to the Panel, depending on what the guidance is from the parties on that.

Other than the declaration and undertaking, which may to take a moment to distribute, is there anything of a preliminary nature from Toronto Hydro or any other party?

MR. VELLONE:  Not from us.

MS. SEBALJ:  And can I just ask whether everyone has seen the -- have declarations and undertakings been signed and has anyone seen the confidential version of those --


MR. O'LEARY:  There was, in an earlier phase in this proceeding, another request for confidentiality of a similar nature, and, to my recollection, we already executed a declaration and undertaking, and I believe other parties have, as well, because we did receive the unredacted version earlier.  So I presume we're eligible to receive it again.

MS. SEBALJ:  And that's fine.  I have copies here in case anyone didn't sign it, but does that mean, Mr. O'Leary, that you have seen the confidential version of those two IRs?

MR. O'LEARY:  No, I have not.

MR. BUONAGURO:  Michael Buonaguro, for the record.  I have not seen them.  I don't believe I've signed a declaration and undertaking for this proceeding.  I don't particularly need to see them right now, so unless somebody is going to cross-examine on them, I'm okay for today.

MS. SEBALJ:  Well, I guess that was the point.  You may want to see them to determine whether you want to cross-examine on them.  I can tell you, having seen it, that is it not a long IR response.

MR. BUONAGURO:  I'm not going to cross-examine on them.  If somebody else is, I don't want to wait in the hall.

MR. O'LEARY:  We don't have any intention to ask any questions on that.

MR. BUONAGURO:  Ask technical conference questions on, not cross-examine.

MS. SEBALJ:  And, Julie, did you have any intention -- one of them is yours, so presumably you would like to --


MS. GIRVAN:  I would like to see it, and I'm not clear if I've signed the declaration or not.

MR. DAVIES:  I don't think I received from you.

MS. SEBALJ:  I think it's better to sign twice than not at all, so I'll -- can we just take a two-minute break off the record, and I will pass this along?

--- Off-the-Record Discussion.


MS. SEBALJ:  Thank you.  I'll turn it over to Toronto Hydro to introduce the panel.  And then in terms of order, unless anyone objects, we were thinking the Smart Submetering Working Group and then VECC, if you are prepared to go, CCC, and Board Staff just has a couple of questions.  We can go out of that order if that doesn't work for you.

So I'll turn it over to you.
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MR. VELLONE:  Sure.  Good morning.  My name is John Vellone, and I am counsel to Toronto Hydro, and with me today is Glen Winn.

Just introducing the witness panel from left to right, we have Mr. Robert Cappadocia, who is the smart meter project planning supervisor at Toronto Hydro.

We have Michael Marchant, who is the manager of CDM projects and technical support at Toronto Hydro.

On his right is Mr. Darryl Seal, and he is manager of rates and treasury at Toronto Hydro.

And to Darryl's right is Anthony Lam, an economist at Toronto Hydro.

MS. SEBALJ:  Whenever you are ready, Dennis.
Questions by Mr. O'Leary


MR. O'LEARY:  Good morning, panel.  My name is Dennis O'Leary and I'm counsel for the Smart Submetering Working Group.  And to my right is Mike Roger, who is with Elenchus and is our cost allocation expert.

And this being a technical conference and in hope that we'll expedite matters, I would certainly invite other parties and Board Staff, if I go into an area that you have questions about and you think that it would expedite matters, Michael, to follow up questions, I have no problem with you asking questions.  And then if we can ultimately eliminate an issue or an interrogatory response at that stage, that would be great.  So don't hesitate.

I'm simply going to literally start at the very beginning of the IRs as they were put into my book and your responses, that is to say, so there is no order of preference.

And Board Staff appear to be first.  If I can turn you to Board Staff, your response to their Interrogatory No. 1, and in particular the two tables that are attached, so at page 2 of 3.

And we may be doing a bit of a Mutt and Jeff show here ourselves, because Mike may have some questions that would be independent of mine, but I may have some just introductory questions.

As I understand it, your response to, I guess, Question 1(a) is the first table on page 2.  And what you've provided is a breakdown of the 48 MURB buildings that's were included in the updated BDR study of the 9,149 suite metered customers.  They resided in 48 buildings, and you provided a split between the primary and secondary feeds to those buildings; is that right?

MR. SEAL:  That's correct.

MR. O'LEARY:  That's you, Darryl?  All right.

And I've done a simple total.  Obviously, there's 48 buildings, but the primary, secondary feed, the number of primary fed buildings is 44, and the number of –- sorry, the other way around.  The number of primary fed buildings is four, and the number of -- sorry, got it wrong again.  The number of building that's rely on primary service is 44; the number rely on secondary service is four.

MR. SEAL:  Correct.

MR. O'LEARY:  Okay.  And you've used that ratio to come up with the number that you used for your cost allocation study.  As I interpret it, you've simply divided four into 48, and that's 8.3?

MR. SEAL:  Not exactly.  It was actually based on the number of units within those buildings, was where we came up with the ratio.  So for those four buildings that are fed by secondary, how many units are in those buildings, versus the units in the buildings that are served by primary.  And it was that ratio that we used, which was a similar, came out with a similar kind of answer.

MR. O'LEARY:  So if we go to the next page, then, I had done a similar analysis, looking at those buildings which were the subject of or served by a primary feed, and the total number of buildings is 113.

And you can take this, of course, subject to math, but I'd like to think my addition is correct.  Of that 113, 102 are primary fed and 112 are secondary.  My math calculates that there has been actually an increase in the number of secondary fed buildings to -- of the 113 is actually 9.7 percent.  But you are saying that there would be another calculation?

MR. SEAL:  Exactly.  So I'll confirm your math, Dennis.  I think your math is correct, but again, we use the number of suites that are served within these buildings.  So the ratio, I believe the ratio is similar; in fact, I think it's a little bit lower than eight.

MR. O'LEARY:  Could you take an undertaking to provide us with the actual numbers of suites you are talking about, then, just so we can verify the number?

MR. SEAL:  We can get the suites that are behind these numbers, yes.

MR. O'LEARY:  Thanks.  Now, just looking at -- the request by Board Staff was for you to break down these buildings by various load categories, and there's the five different load categories: 0 to 50 kVA, right up to greater than 500 kVA.

Is it fair to say, just as an observation which is factually correct, that those buildings in the 50 to 100 kVA and above would all fall, if they were a single operating entity, into a GS class above 50?

MR. SEAL:  Sorry, can you just state that for me again?  I missed the breakdown.

MR. O'LEARY:  You've got, at the second table, one building that is in the 0 to 50 kVA category.  The balance, the 112 buildings that are listed there, are all in the 50 to 100 kVA and above load.

Would it be fair to say that each of those buildings, if they were a single-purpose entity, would be a member of the GS greater than 50 kilowatt class?

MS. SEBALJ:  Dennis, while they are conferring, can I just mark the undertaking?  It will be JTC2.1, and that's because we've had a previous technical conference in this proceeding, just so that you know.

MR. O'LEARY:  Fair enough.  I didn't know whether you wanted to mark them or not.
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MR. SEAL:  So just to clarify, within this list of buildings, being MURB buildings, the actual customers in those buildings are residential customers, qualify as residential customers, and therefore are classified as a residential customer.

MR. O'LEARY:  I understand that, but I'm just looking at the load.  Leave aside, just forget for the moment that there are 50 or a hundred or perhaps a thousand individual units in the building.  Just based upon the load, is it fair to say -- let's use an example.

For the 48 buildings that all have loads in excess of 500 kVA, Darryl, you'll agree some of these buildings are more than a whole meg.

Would you agree that if that was anything other than a residential building, that it would therefore be in a large GS class?

MR. SEAL:  If it wasn't -- sorry.  Maybe we just need to clarify your question, again.  I think what you are asking me is, of those 48 buildings, if they were -- let's say they weren't MURB customers; they were a commercial building.  Whether that building, each of those 48 would are classified in our GS 50-above class, is that what your question is?

MR. O'LEARY:  Whether based upon the load to that building, it would be classified in the above GS 50 class, yes.

MR. SEAL:  I think my answer is, yes, it would.

MR. O'LEARY:  I could use an example of a MURB building where, if it's an apartment building, it's owned entirely by one entity, and it's the -- up until the date it's suite-metered, the load to that building is one load.  It, in effect, is a commercial building; is it not?

MR. SEAL:  In an apartment building, correct.

MR. O'LEARY:  Yes.  So if it has a load greater than 500 kVA, then is it likely in the GS 50 to 999 class?

MR. SEAL:  Yes.

MR. O'LEARY:  And I won't jump around too much.  If I could ask you just, then, to turn to the sub-metering group's IR 20?  And just to give a little background on this, what we were asking relates to the fact that you have reduced the allocation of secondary costs, because you say some of these buildings are now only served by primary feeds; correct?  That's what you have, in effect, done in the --


MR. SEAL:  That's correct, yes.

MR. O'LEARY:  Indeed, if we keep both of them at your fingers, if we have Board Staff No. 1, their second table, you'll see that as identified earlier, 48 of the buildings which house the 24,898 customers, according to this table, have no secondary feed, so they are fed only by primary services?

MR. SEAL:  Correct.

MR. O'LEARY:  And that obviously is about half of all the buildings, so we were simply trying to understand why it wouldn't be appropriate, then, to consider directly allocating some of the costs of the primary services to those buildings, and that was the purpose of our IR 20.

And we identified, in fact, a number of the accounts where you were doing that already for the GS greater than 50 customers.  So what I'm trying to understand is your explanation as to why you say it is inappropriate to do it for buildings of this nature in the Quadlogic class.


[Witness panel confers]

MR. SEAL:  Our understanding of interrogatory 20 dealt with the existing costs that we're directly allocating to the GS over 50 classes.  There's three classes that we're directly allocating costs to.  Our understanding of the question was if some of those customers that are in that class are the Quadlogic buildings, shouldn't some of those directly allocated costs be also directly allocated to the Quadlogic class.


That was our understanding what this question asked.  So our answer was that the Board's model and the Board's directions on direct allocations say that if costs are -- can be identified as serving one specific class, and one class only, that they can be directly allocated to that class.

So our response is, if there are assets that are serving a Quadlogic class and one of these classes that we formerly directly allocated, that direct allocation within the Board's cost allocation guidelines and model may no longer be appropriate.

MR. O'LEARY:  I think I understood that from your answer, but let me ask a question in that regard, first of all.  So when it comes to a high-rise commercial building which has multiple tenants, each of which are individually metered, are you saying that it is, therefore, inappropriate for that -- for any of the primary costs -- primary service costs to be directly allocated to that rate class?  Are you removing them?

[Witness panel confers]

MR. SEAL:  So I think just to turn to your example, in a commercial building where there are individual -- individually metered commercial customers, each of those customers is within the rate class appropriate for their metered load.  So they are not part of -- those customers are not part of a GS over 50 class.

MR. O'LEARY:  But in a similar way, the common elements are.  So the part of the building which is owned by the building owner is its own separate customer and falls into one of the GS classes, does it not?

MR. SEAL:  Into one of the classes.

MR. O'LEARY:  So you are allocating to a portion of that building, even though there is more than one rate class in that building, a portion of the primary services costs; correct?

MR. O'LEARY:  Well, I'm not sure that we are.  When we did our analysis of the various assets to do the break-out, we would have looked at the actual assets, the actual customers, to determine whether it all fell within a class, as the Board required us.

So I'm not certain we have allocated some of those direct allocation costs to those customers inappropriately.

MR. O'LEARY:  I didn't say whether it was appropriate or inappropriate.  My question is:  In terms of the commercial building, the common elements will be a GS greater than 50?  Let's use First Canadian Place, for example.  Clearly the common elements in that building are greater than 50 kilowatts.

MR. SEAL:  I don't know if First Canadian Place has individually metered commercial customers or not, but --


MR. O'LEARY:  They definitely have a common elements portion of the building that is paid for by the owner of the building.

MR. SEAL:  What I'm saying is there might just be one meter that meters that building and the owner of the building charges all its customers somehow.

MR. O'LEARY:  Are you aware of any commercial building where there are multiple commercial tenants?

MR. SEAL:  As I've said, yes, I believe we do have some.

MR. O'LEARY:  In those instances - and if you don't know the answer, then I'll take an undertaking - is it Toronto Hydro's interpretation the cost allocation rules that you were not supposed to allocate any of the primary services to that building because there are more than one types of rate class tenants or customers in that building?

[Witness panel confers]

MR. SEAL:  So again, I'll reiterate when we did our direct allocation, we did look at the assets and we looked and the customers, and believed that we allocated them appropriately to the classes.  Whether we specifically identified that a particular building within a class had a number of other units that were being metered under a different rate, I'm not sure if we've done that or not.

But I would say that this would be an issue that would cover all -- across all classes.  And we've got non-Quadlogic-metered buildings right now that have shared, as well, and whether we've -- whether the direct allocation should apply there or not is, I guess, in question, as well.

MR. O'LEARY:  I understand the reason why we're here is to come up with a methodology to ascertain the appropriate allocations to Quadlogic class.

What I'm simply trying to ask is your understanding of the rules and what you've done in the past.  So let's just stay with that for a minute, then.

You would have to admit that the common elements of the 113 multiple-unit residential buildings that have been served by Quadlogic meters have common elements, which are a separate rate class than the residential units in the building; correct?

MR. SEAL:  Yes.

MR. O'LEARY:  That rate class is either GS greater than 50 or greater than a thousand or -- falls into one of the rate classes?

MR. SEAL:  Typically the 50 to a thousand.

MR. O'LEARY:  Yeah.  And there is, according to our interpretation of your cost-allocation methodology, there has been a direct allocation of some of the primary service costs in a number of accounts, and we've identified them in IR No. 20, the Submetering Working Group, right?

MR. SEAL:  Correct.

MR. O'LEARY:  And that means some of the common elements in the multiple-unit buildings that are part of the Quadlogic class are currently being allocated some of these primary service costs?

MR. SEAL:  Correct.

MR. O'LEARY:  Am I to understand from your answer in part on page 2 of 3 that you're proposing to eliminate those direct allocations to those common elements in the future?

MR. SEAL:  What I said was if it is determined that the direct allocation of those assets no longer applies under the Board's guidelines for how to directly apply, then yes, we would have to -- we wouldn't directly allocate any more.

MR. O'LEARY:  Where who those costs, then, be allocated?

MR. SEAL:  They would get allocated according to the allocation of the rest of the costs in the model.

MR. O'LEARY:  Would they be allocated to the Quadlogic class?

MR. SEAL:  They will get allocated to all customer classes, based on the allocation methodology.

MR. O'LEARY:  Are you proposing that that is what should happen?

MR. SEAL:  No.  I think what we would need to do is look at those particular assets we'd identified before as being directly allocated, and determine whether they still need to be directly allocated to that class.

MR. O'LEARY:  All right.  So I presume, by virtue of the fact you that have so far to date directly allocated these particular costs to the common element rate classes, if I can call it that -- but you understand what I'm referring to?

MR. SEAL:  To a particular rate class.

MR. O'LEARY:  Yes, which includes common elements in these buildings, that to this point you have felt that that conduct is consistent with the cost allocation rules; correct?

MR. SEAL:  Well, this is the first study they we've done where Quadlogic was a separate class, the BDR studies and this particular one, so we haven't made an adjustment at all.  I think I admitted that, that we have not made an adjustment in our model for that.

MR. O'LEARY:  But you have felt what you've done in the past was in accordance with the rules?

MR. SEAL:  Yes, definitely.

MR. O'LEARY:  All right.  And in terms of actually determining an amount to directly allocate for these primary service costs, by virtue of the fact that you have been able to determine an amount and include it as a direct allocation in respect of the accounts that's we've identified and SSMWG 20, I presume that that is something that can continue in future?

MR. SEAL:  So I think the short answer is yes, we would be able to do that.  You can appreciate, I'm sure Mike can appreciate the level of detail and work that would be required to do that break-out.

MR. O'LEARY:  Right.  And if the Board ultimately concludes that your conduct in the past was appropriate, which was to directly allocate some of the primary service costs to rate classes that included the common element customers, and what would be THESL's position in respect of then allocating some of these primary service costs to the Quadlogic class?

MR. SEAL:  Well, obviously we follow the Board's findings in the cost allocation model, and if they direct us to allocate costs in a certain way, then we will allocate them that way.

MR. O'LEARY:  I understand that you'll follow the Board's directive, but can you advise me as to what your position is, which do you think, and why, is the correct way to go?

MR. SEAL:  I think fundamentally we agree that costs should follow the classes that are incurring the costs.  So if that's the appropriate way to reflect those costs, then that's the appropriate way.

MR. O'LEARY:  Let's assume hypothetically that the load of a building is half common elements and half for the balance of the residential units.  If the Board determines that it is appropriate to directly allocate some of the primary service costs to the common elements, does it not logically follow that you would do that for the other half of the load, for the same building?

MR. SEAL:  I think that the Board's guidelines are quite clear, in that it's only if a single class can be identified as being served by a particular asset is it to be directly allocated.

So in this case, if an asset is serving two classes, then I don't see how you can do direct allocation under those guidelines.

It's the model.  The model is a sophisticated model that tries to deal with those particular allocation elements.

MR. O'LEARY:  Sorry, but I thought we just agreed a moment ago that what you've been doing for the last ten years is correct, in that you have been directly allocating to the common element customer, but you haven't been directly allocated to the residential customers in the same building.  So you are doing that already; right?

[Witness panel confers]

MR. SEAL:  I do believe we've allocated things, according to the Board's guidelines, improperly in the past and applied the model incorrectly.  As I've said, if the costs are directly attributable to a customer class, it does make sense to attribute them to that class.

MR. O'LEARY:  Thank you.  If I could turn you to -- if we could jump ahead to Interrogatory No. 2, this will be much quicker.  Really the questions here relate to the average load for the Quadlogic class as calculated for the purpose of your supplemental evidence.

And I believe Board Staff was asking, in part, whether or not the unoccupied units are, in effect, causing that average to fall.  In other words, if you have a percentage of your units which are unoccupied, obviously there isn't a great deal of load and that's going to have an impact on the average.

Is that fair to say?

MR. SEAL:  That is fair that say.

MR. O'LEARY:  Is it also fair, just from a mathematical perspective, that in the first year that the Quadlogic system was being offered and there was approximately 5,000 customers, you might have 5, 10 percent that were unoccupied in that year?

MR. SEAL:  Not in our sample we used, no.

MR. O'LEARY:  What is the percentage?

MR. SEAL:  We gave an interrogatory response.

MR. O'LEARY:  Is that on page 2, where you say 1.4 percent?

MR. SEAL:  Exactly.  And perhaps our current evidence wasn't clear on this, but both samples were taken so that we did not have any units -- unoccupied units.  That was the intent.  The intent was to try to determine the load of a Quadlogic customer who is actually taking load.

So for both samples, while there may have been some individual suites that had zero kilowatt-hours for an hourly read and a number of zero kilowatt-hours, they were minimal.  So, in other words, we didn't have any -- we don't believe we had any suites in either sample that reflected no load for an entire year, an unoccupied suite.

MR. O'LEARY:  I understand.  I think all I wanted to ask is, to the extent that unoccupied suites have any impact on the average load, over time, as the number of suites increases to a larger and larger number, the number of unoccupied suites as a percentage will fall, and, therefore, its impact will become less significant than it was in previous years?

MR. SEAL:  True.  But that's irrelevant to our study, because the data we have used did not include unoccupied suites.

MR. O'LEARY:  Right.  Then let me throw this out there.  You've indicated in, I believe it was, the BDR update, your estimate was that the non-Quadlogic multi-unit suite-metered class had an average of about 397 kilowatt-hours.

I'm just wondering if you can ultimately explain to me why there is such a gap between what I think of as being the same types of units both with smart meters, yet one has a load that is 20 percent less than the other?

MR. SEAL:  I can't explain directly.  What I can say is that these are sample-based data.  And what I can say, and we have stated in our evidence, even within the particular Quadlogic class, the customers and the data that we have shown a high -- a high variance in that load.

I've said our average was 334 in our current study, but the standard deviation was 192 kilowatt-hours.  So even within the Quadlogic class, you've got some customers that are taking relatively small load and some customers are taking relatively large load.

So the fact that two samples give you somewhat different means is not surprising to me.  The fact that looking at the non-Quadlogic customers, suite -- individually metered MURB customers gives you another average doesn't surprise me.  They are all certainly within the standard deviation of the current sample.

And I will add, just while there is a pause, the actual loads, as you've seen in our scenario analysis, has a minimal impact on the revenue-cost ratio.

MR. O'LEARY:  I'm going to have another question about that later on, but just following numerically, our next line of questions actually relate to Board Staff Interrogatory No. 6.  Just so I understand factually what's happened, because there was apparently a change in your understanding of how often the Quadlogic meters are read versus the standard suite meters, for the purposes of me understanding this, what you are saying is Quadlogic are read on a monthly basis, and that's a figure that has been used for the purposes of your study?

MR. SEAL:  That's correct.  And maybe just to clear -- because I think VECC has some question about this, as well.  The actual reading of these new meters is unlikely meters before, when you had a meter reader going out and reading the meters.  These things are electronic, and you know that, that they are read daily.

The actual meter reading, the times that it's read, isn't necessarily hourly, daily, monthly.  But for the purposes of the meter reading sheet in the cost allocation model, we have adjusted the Quadlogic meters to reflect this 12 monthly reads to closely resemble the billing practices for the Quadlogic customers.  So that was the adjustment that was made.

But there might be -- the link between actual reads and the cost associated with those is a little bit -- is different than it used to be.  What I will say, within that meter reading tab in the cost allocation model, by making that change we have more closely reflected the types of meter reading costs that would apply to all -- make all the classes consistent.

MR. O'LEARY:  So I understand, are you billing the Quadlogic customers monthly?

MR. SEAL:  Yes.

MR. O'LEARY:  Whereas the standard smart meter and your typical Toronto Hydro customer, like myself, gets a bill every other month?

MR. SEAL:  That's right.

MR. O'LEARY:  So, initially, in the BDR study, you were indicating an average cost, a meter read, of $2.75.  That's your response to Board Staff 6(a).

And are we to understand that under that study what you assumed was that the annual cost would then be six times that number?  How do you arrive at the $2.75 in the first place?  Do you not determine what is the annual cost to do the meter reading through all of the electronics and divide by six or 12?

[Witness panel confers]

MR. SEAL:  It's actually 12, so that's the monthly cost, the $2.75.

MR. O'LEARY:  So $2.75 times how much gives you the annual cost?

MR. SEAL:  Twelve.

MR. O'LEARY:  So times twelve.  So my math would put it at $33.  $2.75 times 12 is 33.

[Witness panel confers]

MR. SEAL:  Okay.

MR. O'LEARY:  Subject to check, but I did do it with a calculator, so I have some confidence.  And then for the other smart meters where you refer to them in 6(a) as "outside residential meters" -- 39 cents a read, that would be multiplied by six?

MR. SEAL:  It's 12, as well.

MR. SEAL:  I see.

MR. SEAL:  The point again, the particular meter-reading model, or meter-reading tab in the cost allocation model, these factors are used to weight the various costs, so the factors are all on a consistent basis.

MR. O'LEARY:  I just wanted to compare the annuals.  And so you are saying the annual for the smart meters would be 39 cents, under the BDR study, 39 cents times 12, not six?

MR. SEAL:  In our discussions, I may have forgotten the exact question.  I think you asked if the 39 cents was a per-month rate for, as we said, outside residential meters?

MR. O'LEARY:  Yes.

MR. SEAL:  Yes.  That's the answer.  It was monthly, so 12 times that would be the annual.

MR. O'LEARY:  You don't need to go back and check that?

MR. SEAL:  Do we need to go back and check that?

MR. O'LEARY:  Darryl, maybe to short-circuit, because you may not have it there at your fingertips, what I would like is actually confirmation for all of them, what is the annual cost for the Quadlogic meter-reading function and what is the annual cost for the outside meters, the smart meters, both under the BDR study and now on your supplementary evidence.

MR. SEAL:  Just to clarify again, this is the 2009 data, which is what we were using.

MR. O'LEARY:  I understand.  That's the BDR study, was 2009?

MR. SEAL:  That's right, so –-

MR. O'LEARY:  And that's –-

MR. SEAL:  The distinction, though, is that it says "outside meters," whether that was smart or conventional.  I may need to check that.  But you've asked me for the annual costs in this comparison?

MR. O'LEARY:  Yeah, but it would be -- you used the 39-cent figure for the BDR study, and that ultimately resulted in the weighting of seven, so what we're looking for is the annual cost for the Quadlogic meters and the annual costs for those that are making up the 39 cents, but certainly now for the purpose of your supplementary evidence, we know that you've got 500,000, whatever, smart meters.  So the 43 cents has got to be for the smart meters?

MR. SEAL:  Yes.  It is.

MR. O'LEARY:  What I want to know is what's the annual cost for that, and also the annual costs you are estimating for the Quadlogic meters.

And can we have that as an undertaking, please?

MR. SEAL:  So in other words, this same question:  Just give us the annual cost?

MR. O'LEARY:  Correct.

MR. SEAL:  Yes.

MS. SEBALJ:  It's JTC2.2.
UNDERTAKING NO. JTC2.2:  TO PROVIDE ANNUAL COSTS FOR QUADLOGIC METERS.

MR. O'LEARY:  Am I to understand that the explanation for the decrease from 2.75 to $1.58 for the Quadlogic meters is due to the fact that you are going to take that function in-house at some point next year?

MR. SEAL:  Correct.

MR. O'LEARY:  All right.  Do you have a specific date when that's going to occur?

MR. MARCHANT:  We anticipate that that will be brought in in-house by the end of the first quarter of 2012.

MR. O'LEARY:  As I read your evidence, you said there's some still testing being done.  Is it fair to say you don't even know if you can do it?

MR. MARCHANT:  The testing is reaching now a stage where there's a few issues that we are working through, but we anticipate we will be able to bring it in-house.

MR. O'LEARY:  So in the optimistic world, you will.

Would you agree that that means that on January 1st you will not have taken it in-house, and therefore the cost for meter reading will be similar to what was included in the BDR study?

MR. MARCHANT:  For the first three months of the year, it would be the rate that was included in the BDR study.

MR. O'LEARY:  Wouldn't that therefore have an impact on your weighting?

MR. MARCHANT:  So for 2012, it's going to be a weighting of the two different rates.

MR. O'LEARY:  So it would be something above 3.6, but less than seven?

MR. MARCHANT:  Correct.

MR. O'LEARY:  Are you the person to ask, Mr. Marchant, how did you calculate the 158?

MR. MARCHANT:  The 158 includes all our internal costs, so it includes ongoing software costs, ongoing personnel to operate the software.  So that's how the costs were derived.

MR. O'LEARY:  Does that include all the capital costs associated with acquiring, installing, training people associated with the new software and hardware?

MR. MARCHANT:  So the way that was derived was ongoing operational costs, so it includes software operational costs and labour, but it doesn't include a capital allocation.

MR. O'LEARY:  So is it fair to say that that figure is not a fully allocated figure?

[Witness panel confers]

MR. SEAL:  So after discussion as to clarify, these costs both for the Quadlogic meter and for the residential smart meters are meter reading costs and do not include capital, either of them.  That capital associated with any of those meter reading costs are part of some capital category within the cost allocation model that gets allocated to the cost allocation logic.  So what we're comparing is apples to apples, Quadlogic meters' to smart meters' readings costs.

MR. O'LEARY:  I think I understand what you're saying, but let me just understand.  You're taking the meter reading of Quadlogic meters in house; correct?

MR. SEAL:  Correct.

MR. O'LEARY:  So you are spending money on hardware, software, and educating and training people to read Quadlogic meters.  So it's a function that's specific to Quadlogic systems?

MR. SEAL:  This particular one, yes.

MR. O'LEARY:  And as a result of that activity, you're saying it's going to reduce your costs to read the Quadlogic meters?

MR. SEAL:  Correct.

MR. O'LEARY:  So what I'm simply asking for is -- I believe the accountant number the 5310 is where you have meter reading there.  I want to know whether or not you have included all the costs that belong in that account on a fully allocated basis.

[Witness panel confers]

MR. SEAL:  It's our understanding that that particular class does not include capital associated with this.

MR. O'LEARY:  But for those costs that are properly identifiable at that account, because I'm going to ask you about where the other accounts are in a second, I want to know that you have fully allocated the costs associated with the meter reading of Quadlogic in that particular account.

MR. SEAL:  They will be, yes.

MR. O'LEARY:  They are?

MR. SEAL:  Yes.

MR. O'LEARY:  Not "they will be".

MR. SEAL:  Sorry, they are.  They are allocated, according to the USofA accounts, properly.

MR. O'LEARY:  No.  I want to know that the number you've got there does represent the fully allocated costs for meter reading in respect of those functions that that account refers to.

MR. SEAL:  The number we have in that account reflects the properly recorded costs that should go in that account.  Is that the same thing?  I think it is.

MR. O'LEARY:  I want to know if you are doing it on a marginal base or it's a fully allocated basis.  If I understand it, what you are doing is an activity solely for the Quadlogic class, and, to extend a little further, I would like you to also identify, as well as confirm, that you've done it on a fully allocated basis to that account, but I would like you to identify the other accounts where you say that there is either capital expenses or O&M that relates to this taking the meter reading in-house, and to ensure that all of those costs are identified there and are capable of being directly allocated to the Quadlogic class.

[Witness panel confers]

MR. SEAL:  Perhaps I'm just getting a little bit confused on what you mean by "fully allocated costs".  If by that you mean have we put in -- have we allocated capital costs into that account, then the answer is no.

If it means have we properly fully allocated the cost associated with meter reading to that account, then I would say yes.

MR. O'LEARY:  What I mean by "fully allocated" is there an appropriate share of overhead, et cetera, that is included in those costs on a fully allocated basis.

MR. SEAL:  Yes.

MR. O'LEARY:  Are you able to identify those other accounts where there has been capital or O&M included which is related to the meter reading costs?

[Witness panel confers]

MR. SEAL:  So as you can appreciate, a lot of these different costs flow into different buckets, different USofA accounts.  We probably could identify for the 2012 budget which of these different accounts the budgeted meter reading costs flowed and which accounts it was in.

It's not a simple undertaking, because we're crossing groups within the company and all these different cost categories.  Again, the short answer is, yes, we could do it.  It would be some work.

MR O'LEARY:  I would request you do it.  And just to provide a little more background on it, if you could turn to the sub-metering group Interrogatory No. 6?

First of all, Mr. Marchant, I'll take you to your response at (a).  You say in the last sentence, because we asked when it is your intention to take these -- this function in-house, you say:

"Although there is no specific date, if the testing is successful, Toronto Hydro would transition this function in-house the first half of 2012."

And that was your answer on November 4th.  Am I to take it that you've had some very optimistic results recently, and now you are doing it in the first quarter?

MR. MARCHANT:  I mean, we're heavily in the testing phase, so I'm anticipating Q1.  But as you said earlier, maybe I'm optimistic but I think that's where we're headed.

MR. O'LEARY:  Would it therefore be fair to do six months at the old weighting and six months at the new one?

MR. MARCHANT:  I think it would be more appropriate if we went down that path three and nine, versus six and six.

MR. O'LEARY:  We can debate it, but ultimately I think we will need for you to do a further run, and I would ask you to do both, with the weighting on a nine-month, three-months, and on a six-month, six-month basis.

MS. SEBALJ:  Was that accepted, that undertaking?  Yes?

MR. SEAL:  Sorry, this was the undertaking to separate out the costs?

MR. O'LEARY:  We're going to come back to that one in a second, because I thought I would add a little more it to.

The first undertaking was to do a further run with a weighting of -- on a nine/three basis and on a six/six basis.

MR. SEAL:  So to redo the...

MR. O'LEARY:  The run, yes.  You're changing the weight from 3.6, instead to do it for the first three months at seven, then the next nine months at 3.6, and then seven for the first six months and 3.6 for the last three.

MR. SEAL:  That's not exactly the way the model works, but we could probably --


MS. SEBALJ:  I don't think your mic is on.

MR. SEAL:  That's not exactly the way the model works, but we could probably work the underlying numbers to reflect that type of weighting.

MR. O'LEARY:  Thank you.

MS. SEBALJ:  So that's JTC2.3.
UNDERTAKING No. JTC2.3:  TO RERUN MODEL WITH A WEIGHTING OF 7 FOR THE FIRST 3 MONTHS, 3.6 FOR THE NEXT NINE MONTHS, THEN 7 FOR THE FIRST SIX MONTHS AND 3.6 FOR THE LAST 3 MONTHS

MR. O'LEARY:  The, Mr. Seal, if I could turn you to the next page, your response to Question 6(b) is to provide a breakdown of what we understand are the capital and O&M costs relating to taking the meter-reading function in-house; is that correct?

MR. MARCHANT:  Yes, that's correct.

MR. O'LEARY:  Sorry, I meant to ask you, Mr. Marchant.

And so what are -- the undertaking that we're looking for is for you to identify these costs in the appropriate accounts so that the Board might consider whether or not they should be directly allocated to the Quadlogic class.

MR. SEAL:  So that's the question, to identify where these particular costs would be in the accounts?

MR. O'LEARY:  Where they reside, exactly.

MR. SEAL:  We can do that.

MR. O'LEARY:  Thank you.

MS. SEBALJ:  JTC2.4.
UNDERTAKING NO. JTC2.4:  RE BOARD STAFF IR No. 6, to IDENTIFY ACCOUNTS WHERE PARTICULAR COSTS RESIDE IN THE ACCOUNTS Including the $60,000 in Account 5310.

MR. O'LEARY:  Mr. Marchant, is there an update to any of these costs?  In other words, do you still stand by them?  Or are you concerned they don't fully represent the true costs of taking this function in-house?

MR. MARCHANT:  The costs as they stand in the budget are a reasonable estimate of the costs of bringing it in-house.

There's been some additional hardware costs that have been signed off in the last while, to reflect some new hardware requirements, so...

MR. O'LEARY:  What are those additional costs?

MR. MARCHANT:  In the order of, subject to check, around $60,000.

MR. O'LEARY:  Anything else?

MR. MARCHANT:  No, that's it.

MR. O'LEARY:  Could you, Mr. Seal, include that $60,000 also, in your undertaking response?

MR. SEAL:  Yes.

MR. O'LEARY:  Thank you.

If we go now to Board Staff No. 7, Mr. Roger, I think is going to simply confirm that what you are saying in your response works.  Because admittedly, when I first read it, you were saying that with your recognition of the fact that you meter-read the Quadlogic 12 times a year, you would then have to make appropriate adjustments, and then your answer indicates that you change the multiplier from 12 to six.

Intuitively, that struck me as wrong, but I think Mr. Roger may have a question to try and confirm whether that works or not.

MR. ROGER:  What you did is that you had the model with a number of 12 for the number of billings, and then you change it to six to determine what the difference is, and that's the way you come up with the $353,000?

MR. SEAL:  That is exactly what I did, yes.

MR. ROGER:  Thank you.

MR. SEAL:  That's why I said 12 to six.

MR. ROGER:  I think that when people read it, they would have expected to see there a change from six to 12.  That's all.

MR. SEAL:  I just described how I came up with the 353.

MR. ROGER:  Thank you.

MR. SEAL:  Just to be transparent.

MR. O'LEARY:  If you could turn now, please, to Interrogatory -- Board Staff No. 10, and in this question, you were asked, as some of this other intervenors asked, about the fact that you did not directly allocate the meter costs in your model.

And your response was that you felt that what you did was reasonable, and that you had concern about its impact on whether or not certain wholesale meter costs would also, then, not be appropriately allocated to the Quadlogic class.  And --


MR. ROGER:  Yeah.  One way that -- and I want to see if you agree, Darryl, that you could do it -- is all these costs are recorded in one account for all the meters?

MR. SEAL:  All the meter costs.  That's right.

MR. ROGER:  Correct?  But we know what the costs are for the Quadlogic meters?

MR. SEAL:  We've estimated that, yes.

MR. ROGER:  You could take those dollars, using the I 9 direct allocation schedule, and allocate those to the Quadlogic class directly, could you?

MR. SEAL:  That's what we did.

MR. ROGER:  And then the remainder cost, which would include the wholesale meter cost in that account, will be allocated based on the logic of the model, so that way it would overcome your concern that the Quadlogic class would not be capturing any of the wholesale meter costs?

Wouldn't that work?

MR. SEAL:  Well, no, because that meter cost also includes all other meters; every other meter to every other rate class is in that remainder of the meter capital.

So therefore some of those meter costs for other classes, under the model logic, would be getting allocated to the Quadlogic class.

MR. ROGER:  But by not doing the direct allocation, you're already doing that.  You're taking all the meter costs --


MR. SEAL:  I'm removing the Quadlogic meter costs from that bucket of meter costs, and directly assigning that to the Quadlogic customers; correct.

So I've got a reduced bucket of meter costs, but in that bucket there is still the wholesale meters plus every other meter to every other customer class.

That bucket, then, gets allocated across all classes, including the Quadlogic class.  So they are getting some of the costs of meters for other classes with that logic.

MR. ROGER:  Is that the way you are doing it right now?  You are removing the Quadlogic meters and directly allocating those to the Quadlogic class, and the remainder meters are allocated to all classes?  That's the way you are doing it?

MR. SEAL:  That's the way that we ran the scenario, yes.

MR. ROGER:  That's the scenario to estimate the impact, but that's not the way you are doing it.

If I read the response to interrogatory, what you are doing is you are not doing the direct allocation of the Quadlogic meters, and you are allocating all the meter costs to all customer classes.

MR. SEAL:  That's correct.  We are letting the model do the allocation.  That is how we've done it for the --I'll call it the base.

And your suggestion to take out the Quadlogic costs from the meter costs and directly assign it, that is what we did for the scenario.

But what I'm saying is the problem is you still have a bunch of other meter costs that get allocated by the model logic to the Quadlogic class, that are inappropriately allocated.

MR. ROGER:  But if you don't do the direct allocation -- let's take a simple example.

Let's say I have $100 in the meter-related costs.  Forty of those are Quadlogic costs.  In this scenario, you would have taken the $40 and allocated them to the Quadlogic class; correct?

MR. SEAL:  Correct.

MR. ROGER:  And the $60 that remains, that includes all type of meters, including wholesale meters, could be allocated to all customer classes based the way the model does it?

MR. SEAL:  That's right.

MR. ROGER:  Including Quadlogic.  So they get their share of the wholesale meter costs?

MR. SEAL:  And they get a share of every other classes' meter costs, which is inappropriate.

MR. ROGER:  But what you are doing right now, you are taking the $100 and you're allocating to all customer classes --


MR. SEAL:  I recognize that the current logic within the model takes the bucket, the entire bucket of meter costs, and allocates it to all classes, but it does it on the logic of the meter capital component, the meter capital tab, and that meter capital tab is intended to try and allocate those capital costs based on the cost of the meters for each class and how many of them there are.

So it's got within that tab a logic to, admittedly, not exactly allocate to each class its exact meter capital costs but it approximates it.  But, as I've said, if you take out those -- if you take out the Quadlogic from that class, you've still got every other classes' meters in there and the model will allocate that across all classes, including Quadlogic.

MR. ROGER:  But that is what you are doing right now.

MR. SEAL:  I'm doing that with all meter -- total meter costs, including Quadlogic.

MR. ROGER:  You are getting then some Quadlogic meters getting allocated to classes that don't use it?

MR. SEAL:  If you believe the meter capital weighting page properly accounts for that, then, no, you are not.  They are properly being allocated to each class.

MR. O'LEARY:  Let me ask a question about your sensitivity analysis where you actually have broken out directly and allocated the Quadlogic meter costs.  Am I to understand if you do that, then your concern is that the Quadlogic class is or is not allocated other meter costs which it should or should not be allocated?

MR. SEAL:  It sounds all encompassing.

MR. O'LEARY:  If I can make it simpler, I'll try.  I probably shouldn't repeat my question before you try and answer it.  What I'm simply -- in your sensitivity analysis, you have directly allocated the Quadlogic meter cost to the Quadlogic class; correct?

MR. SEAL:  Correct.

MR. O'LEARY:  I'm just trying to understand your concern.  You are saying there's a shortcoming to that, and is it because there are the costs, therefore, that are not being allocated, or they are being allocated other costs that they shouldn't be as a result of you doing the direct allocation?

MR. SEAL:  It is because they are being allocated other costs they shouldn't be.

MR. O'LEARY:  You say this could be partially -- I'm looking at the bottom of SSMWG -- Board Staff No. 10, sorry, the very last sentence.  You say, "could be partially overcome by assigning zero costs to the Quadlogic class"; is that correct?

MR. SEAL:  That's correct.  What I could do is take that meter capital sheet and make it so that there are zero meters for the Quadlogic class.  So, therefore, that part of the sheet would allocate all the other meter costs - wholesale meters, plus everybody else's meters - only to every other class, but none of it to the Quadlogic class.

MR. O'LEARY:  So they are being assigned 100 percent of the Quadlogic meter costs and zero of any of the upstream meter costs?

MR. SEAL:  Or other customer meter costs; that's right.  That's inappropriate, too.

MR. O'LEARY:  I agree.  So what I want to know is what upstream meter costs do you say should be borne, in part, by the Quadlogic class?

MR. SEAL:  Those would be all our wholesale meters.

MR. O'LEARY:  Can you provide us, either now or through an undertaking, with the magnitude of what you say is the allocation to the Quadlogic class?  In other words, how much?  What percentage or what dollar value would you say, based upon an appropriate determinant, is the appropriate allocation to that class?

MR. SEAL:  I can't answer that and I think would it would require a lot of work to determine those particular costs and how much of that should be --


MR. ROGER:  But according to the wholesale meters, aren't they allocated to the various customer classes based on the load for each customer class?

[Witness panel confers]

MR. SEAL:  They are all part of the meter capital and get allocated however the meter capital gets allocated.

MR. ROGER:  One way you could do it, if you know that wholesale meter measures electricity and you know how much those wholesale meters cost, you could take, for each customer class, the amount of load, and then apportion a share of those costs to the Quadlogic class based on the proportion of load and cost of those meters.

[Witness panel confers]

MR. SEAL:  Yes, we could allocate on that basis, but what I've indicated is I'm not sure we have the specific data to know how much the wholesale is -- wholesale meter costs are as a proportion of the total meter capital bucket and whether the load is the way to allocate it to the class.  I guess I would have to think about that, too.

MR. O'LEARY:  I would ask for an undertaking, notwithstanding you saying it's difficult, in terms of:  What are we talking about in terms of the wholesale meter costs that you say would be appropriately attributable to the Quadlogic class, because we think that that is a practical way of dealing with this concern of yours about directly allocating the Quadlogic meters to the Quadlogic class?

[Witness panel confers]

MR. SEAL:  I don't think we can actually extract that data with a reasonable level of confidence in a reasonable time frame.

MR. O'LEARY:  Let me ask it in maybe more simplistic terms, and then you'll understand it may not be as difficult.

I presume that your wholesale meters are included in rate base?

MR. SEAL:  Yes.

MR. O'LEARY:  So there would be no problem in you identifying the current amount that's for wholesale meters that's included in rate base?

MR. SEAL:  Yes, that's what I'm saying.  There would be a problem.  It would be difficult to ascertain the value of those meters that are in rate base right now for those particular wholesale meters.  That's what I'm saying.

MR. O'LEARY:  There isn't a line item in your rate base for --


MR. SEAL:  We have a meter capital category, and that's where they are in.  We don't a line item for wholesale meter capital.

MR. O'LEARY:  Then just so we're clear, you're saying it's better to not directly allocate the Quadlogic meters to the Quadlogic class, because it's too difficult for Toronto Hydro to go back and determine what the wholesale meter costs are, and then determine what portion of those should be allocated to this small rate class?

MR. SEAL:  In fact, that's not what I've said.  What I've said is I think the existing allocation methodology produces a reasonable result.

MR. O'LEARY:  But at the end of the day, we've asked for the undertaking for the reasons given, and you're not prepared to give it?

MR. SEAL:  What I've said is I don't think we can produce that information with reliable numbers in a reasonable time frame.  That's a fact.

MR. O'LEARY:  What is the time frame you require?

MR. SEAL:  I can't answer that specifically, but, in our discussions, it seems like it would be a lot of work to go out and get that particular data for that wholesale meter capital.  I can't give you a time frame.

MR. O'LEARY:  Can you give me an estimate of the magnitude of the numbers we're talking about here?

MR. SEAL:  I can't even give you that.

MR. O'LEARY:  But with an appropriate amount of work, you can respond to the undertaking?

MR. SEAL:  As I've said, we could get that data, but not without a lot of work and some time.


MR. O'LEARY:  So just so we're clear, in the hearing if we take the position that these numbers should be directly allocated and your position is that if you do that -- the numbers I'm talking about are the Quadlogic meter costs.  We take the position they should be directly allocated to the Quadlogic class, and should the Board then say:  Oh, there are, pursuant to your argument, missing costs because the wholesale meters have not been allocated in part to that class, you would be able to ultimately calculate the amount that should be allocated to the Quadlogic class?


MR. SEAL:  As I said, with a reasonable amount of time and effort, yes.


MR. O'LEARY:  Thank you.


MS. SEBALJ:  Mr. O'Leary, I assume you've got a ways to go, given the number that we're on.


Is this a reasonable point to take a break?

MR. O'LEARY:  Absolutely.


MS. SEBALJ:  Why don't we take 15 minutes, and come back in at 20 after 11:00, please?

MR. O'LEARY:  Thanks.


--- Recess taken at 11:05 a.m.


--- On resuming at 11:23 a.m.

MS. SEBALJ:  Let's get started again.  Thank you, Martin.

MR. O'LEARY:  If I could ask you to have a turn to Board Staff Interrogatory No. 17?  I think several of the parties asked questions about the apparent three smart meter customer groups that exist, LDC 1, 2 and 3.  And in your interrogatory response, I understand that you corrected one of the numbers, but I just wanted to understand whether or not there is any relationship between that group and the Quadlogic group.

So as I understand it from your responses not only to Board Staff 17, but others, in your model you've got an LDC 2, which you now say has an average cost of $595 and that consists of the type of meters which are identified in Board Staff 17(b)?

MR. SEAL:  Right.

MR. O'LEARY:  And these are not Quadlogic meters?

MR. SEAL:  These are not Quadlogic meters.

MR. O'LEARY:  So LDC 3 are the Quadlogic meters and there has been no cross-pollination in terms of costs between any of these?  We're clear that they are separate and distinct?

MR. SEAL:  They are separate.  And in the updated live model, we have adjusted the descriptions to reflect that.

MR. O'LEARY:  If I could next turn to Board Staff Interrogatory 19, Board Staff took you to the services weighting factors and identified that the weighting factor for residential is 1.0, and that's in fact the one you used for the Quadlogic customer class?

MR. SEAL:  In the study, yes.

MR. O'LEARY:  Yes.  They asked you whether or not it was appropriate to use a number other than 1.0, and your response was it was possible that it should actually be reduced.  But I wanted to ask you some questions about that.  First of all, would you agree with me that for the other non-residential rate classes, the GS 50 to 999 and the GS 1,000 to 5,000, there is a different weighting factor?

MR. SEAL:  Yes.

MR. O'LEARY:  And it's a higher number?

MR. SEAL:  In most cases.  I guess in those classes, you mentioned, yes, it is.

MR. O'LEARY:  So can I ask you why, in your understanding, the model actually includes a higher weighting factor, for example, for the GS 50 to 999 class for services?

MR. SEAL:  So the model -- this part of the model is intended to reflect the relative complexity and costs associated with services for these different classes.

MR. O'LEARY:  So just following along that, it's assumed that if you're in the GS 50 to 999, the complexity of the services are greater than to a single residential family home?

MR. SEAL:  Correct.

MR. O'LEARY:  So along the lines that we talked about before, since we're dealing with, to a large extent, buildings that have loads which are the equivalent of GS 50 to 999 and, in some instances, GS 1,000 and better, would it not also equally follow that the weighting factor for services should be higher for the Quadlogic class?

[Witness panel confers]

MR. SEAL:  No.  We don't think it's appropriate that it would be higher.  The services weighting still applies to the GS 50 to 999 class for the bulk of the load.  So I think it remains appropriate to stay in there and not go with the Quadlogic customers over to the Quadlogic.

MR. O'LEARY:  If I could actually put your finger at that particular IR and also go back to Board Staff IR No. 1, page 3 of 3, and the table at page 3 of 3, the answer to 1(b)?

Again, I'll you to the 48 buildings that have loads at greater than 500 kVA and their supply voltages are in excess of 600.  Do you agree with me there's no such a thing in the residential rate class that a customer is served in a single drop, if I can use the expression, with that kind of load and that kind of voltage?

[Witness panel confers]

MR. SEAL:  So I believe the direct question was:  Are there residential customers served at that large voltage?  And, generally, no, as far as I know, there aren't.

Just to get back to the weighting factor, I don't think it's appropriate to move it to higher.  The weighting factor for services applies to the customers and doesn't apply to the building in this particular case for Quadlogic.

MR. O'LEARY:  What are the services that you understand are contemplated by that term?  Like, what costs are caught by the term "services"?

MR. SEAL:  I believe it's service drops.  Do we know what it is?

[Witness panel confers]

MR. SEAL:  So that is our understanding, that these are service drops.

MR. O'LEARY:  Just so I understand, with the weighting factor of one, what you are saying is that the Quadlogic building that has greater than 500 kVA and is served by a 600-volt supply is the equivalent, in terms of the service drop, as supplying one single-family home.

MR. SEAL:  What I'm saying is that the one Quadlogic customer is the equivalent of a service drop of one residential customer; customer, not building.

MR. O'LEARY:  Yes, but it --


MR. SEAL:  Building is captured in the other category.

MR. O'LEARY:  No, but that's my concern here, is it's not, is, in fact, you are not capturing the service drop for the building by only allocating a higher weighting factor to the common elements portion of the building but not to the balance of the load in the building.

MR. SEAL:  I'm not so sure I agree with you.  We are, in our model, allocating a portion of those costs of one, with a factor of one, per each customer within a building.

MR. O'LEARY:  You will -- for the common elements, if it's in the GS greater then 50, the weighting factor is, I think 10; is that --


MR. SEAL:  Right.

MR. O'LEARY:  Yeah.  So for that half of the building it's 10 times, but for the balance of the building, you are saying the weighting factor should remain at one?

MR. SEAL:  On a per-customer basis.  That's what it applies to.

MR. O'LEARY:  So if the building has a hundred customers, you're saying that that is the equivalent, then, of a weighting of 100?  Is that how the math works?

MR. SEAL:  It may be, actually.

MR. O'LEARY:  Have you done an analysis to determine whether or not that weighting factor is properly representative of the complexity of providing the service drop to so large a building?  In other words, done a comparison to see if it is properly reflective?

MR. SEAL:  No, we have not done a specific analysis.  We don't believe that the value that's in there was completely inappropriate.

As I said, it's possible, and we agreed with Board Staff that it might be less than one on a per-customer basis, but we have not done that analysis.

MR. O'LEARY:  If I could turn you to Board Staff No. –- sorry.  We moved onto the SSMWG No. 6.

We looked at this briefly before in terms of the budget.  I have a question about 6(d) and your response there, and you talk about maintenance cost.

It's my understanding that the Quadlogic meters require more frequent inspection and sealing under Measurement Canada standards than smart meters; is that also your understanding?

MR. SEAL:  Sorry, could you repeat the question?

MR. O'LEARY:  It's our understanding that a Quadlogic meter system requires more frequent inspection and resealing than a standard smart meter, and I wanted to know if you agree with that.

MR. SEAL:  No.  We think for both meter classes it's similar.

MR. O'LEARY:  My understanding is that Measurement Canada requires this Quadlogic to be inspected and resealed every six years, where it's every 10 years for a smart meter.

You may not know.  If you don't, you can give an undertaking.

MR. MARCHANT:  I was just conferring with my colleague.  So not all smart meters are valid for 10 years between certifications.  Some are, some aren't, so some are at the six years and some are at the 10-year certification.


MR. O'LEARY:  But the lion's share of them, the 500,000 that have been installed as part of your smart meter program, they are subject to a 10-year resealing requirement?  No?

MR. MARCHANT:  So the majority of our meters, yes, are at 10 in the residential class.

MR. O'LEARY:  So there is an additional cost to the Quadlogic system in terms of its inspection and resealing.

Is that a cost that has been identified in your study?

MR. SEAL:  The study deals with 2012 costs.  So we've stated, I think, in this answer that the maintenance cost weren't include in this particular category in 2012, because they are part of the contract.

MR. O'LEARY:  Who undertakes the resealing?  Is that your third-party vendor?

MR. SEAL:  For these particular meters, in 2012 there would be no resealing, because they haven't been in place.

MR. O'LEARY:  In future years, then, how do we account for those additional costs?

MR. SEAL:  They would presumably show up in those costs in those years.

MR. O'LEARY:  So you will include them in those costs in future years?

MR. SEAL:  We would include them in the appropriate costs, yes.

MR. O'LEARY:  Yes, but what I'm saying is it's a cost that is directly attributable, which is different, to the Quadlogic meters.  So would you agree with me that it should be a cost that is directly allocated to the Quadlogic class?

MR. SEAL:  Well, getting back to the allocation again, I'm not so sure I agree that it needs to be directly allocated, or if the model can handle it, but if it's a cost that's associated with that class, then it's a cost that should go to that class.

MR. O'LEARY:  Thank you.

If I could turn you to SSMWG Interrogatory 11, your response, we accept in part that some of the evidence referred to is related to the meter-only rate, which is now no longer on the table, but it also related to an issue that has come up earlier in this proceeding.  And that is the cost to retrofit a building versus the cost of a new building.

And does it remain the case that it is, on average, more costly to retrofit a building and install a Quadlogic meter system than it is to install it in a new building?

MR. MARCHANT:  Yes.  No, that stands to reason.  A retrofit would be more expensive than a new build.

MR. O'LEARY:  And the figure you've provided in your response of $550 per unit, or per meter, does that include retrofits?  Or is that only the amount that you're paying the third-party vendor for the new buildings that they're installing the Quadlogic meters?

MR. MARCHANT:  So the 550 represents basically looking back at our stock of buildings, which are predominantly new buildings.  So the 550 really reflects what we think in terms of our current mix of customers.

MR. O'LEARY:  I don't think I fully follow that.  Is the -- you filed it in a redacted format because you say it's confidential, so I presume that what you are saying is, This is the contract price that we have with Trillium, which is your vendor.  Does that contract also provide for the installation and retrofit buildings?

MR. MARCHANT:  Yes, it does.

MR. O'LEARY:  And are the rates identical between the new buildings and the retrofits?

MR. MARCHANT:  Well, the variability you would see would not be in equipment costs or reinspection costs.  The variability would be in the actual physical labour to install it.

MR. O'LEARY:  So I assume that you have, in 2011, undertaken some retrofits?

MR. MARCHANT:  Correct.

MR. O'LEARY:  Could you, in an undertaking, provide us with the average cost to retrofit those buildings, please?

[Witness panel confers]

MR. MARCHANT:  So we could provide that breakdown.

MR. O'LEARY:  So I'm clear, is the cost per meter that you've used in your model, is it $550 times the total number that you're expected to install in 2012 at the midpoint?  Is that my understanding?

MR. SEAL:  The costs are the 550 times the total number of suite-metered customers mid year.

MR. O'LEARY:  Mid year.  So, yes, I understand.  Again, I come back to my initial question.  Is that 550 reflective of the higher cost for retrofits, and, if so, can you show me the math?

[Witness panel confers]

MR. SEAL:  So the 550 reflects the average cost in 2012 for those suite meters, be they retrofits or new construction.

MR. O'LEARY:  So the 550 is not, per se, the contract amount on average.  It is the addition of or the aggregate, if I can put it that way, or the average of the retrofits and the new.  So what percentage have you -- or what number of units are you including in your model or your analysis which are retrofit in 2012?

[Witness panel confers]

MR. SEAL:  I don't have the specific breakdown of retrofit versus non-retrofit, but I can confirm that the 550 is the weighted average of those.  So it reflects our best estimate of the costs of all those meters in 2012, retrofits and new construction.

MR. ROGER:  Darryl, will you be able to provide the supporting data for the 550 weighted average just by taking the number of retrofit units and their cost and the new units and their cost that would support the 550?

[Witness panel confers]

MR. SEAL:  We can probably do that, yes.

MR. ROGER:  Thank you.

MS. SEBALJ:  So there's been a bit of discussion here, but I'm assuming that the three parts that I have here are all subsumed now into the breakdown of the retrofit versus new installs showing the math, the weighted average, how they come to the weighted average, because that will give you the average cost of retrofit versus new install, which is what the original question was from Mr. O'Leary?  I just want to make sure the undertaking is properly labelled on the record.

MR. ROGER:  We're trying to get the supporting data behind the 550, which we understand is the weighted average of the Quadlogic meters, which is a combination of the retrofit buildings and the new buildings.

MS. SEBALJ:  So it's JTC2.5.
UNDERTAKING NO. JTC2.5:  TO PROVIDE A BREAKDOWN OF THE $550 WEIGHTED AVERAGE OF THE QUADLOGIC METERS, BEING A COMBINATION OF RETROFIT BUILDINGS AND THE NEW BUILDINGS.

MR. O'LEARY:  Thank you.  If I could turn you now to suite metering group No. 22, and it's just a question about the depreciation rate used for Quadlogic and residential smart meters.
Can you advise whether or not the depreciation rate for Quadlogic meters -- is that a Board-given number or is that one that Toronto Hydro has come up with?

MR. SEAL:  I can't answer that.  I don't know.

MR. O'LEARY:  Could you --


MR. SEAL:  Undertake?

MR. O'LEARY:  Yes, please.

MS. SEBALJ:  It's JTC2.6.
UNDERTAKING NO. JTC2.6:  TO PROVIDE ANSWER AS TO WHETHER THE DEPRECIATION RATE GIVEN IN SSMWG IR NO. 22 IS A BOARD OR TORONTO HYDRO NUMBER.

MR. O'LEARY:  If could turn you now to SSMWG No. 26, this was the interrogatory we asked you to redo the model based upon certain assumptions, the first being that the average consumption remained -- sorry, was at 361 kilowatt-hours, which was the number that was in the BDR update, and then you assumed that the weighting factor for meter reading costs would be 7, and that you would directly allocate the Quadlogic meter costs.

I've asked you to redo the model already based upon the two splits in terms of the weighting factor.  Could you please do that at the 334, which is the average consumption that you've included in your supplementary evidence?

MR. SEAL:  Sorry, I wasn't clear what you were asking for there, Dennis.  To redo this interrogatory response using 334?

MR. O'LEARY:  Yes.  You've earlier agreed to do a run using a three-three months and a six and six months using the different weighting factors for meter reading costs.

So for this run, I would ask you to use the 334, which is the number that your supplementary evidence has suggested is the appropriate consumption for the Quadlogic class, and do it for both of the different scenarios, nine and three, and six and six for the meter reading weighting, and continue to allocate all the Quadlogic meters costs and see what that ultimately generates in terms of revenue-cost ratio.  Is that clear?

So basically it's that IR, and in (a) you change the consumption estimate to 334.  At (b) you are just doing the things that you've agreed to already in terms of the weighting for the meter reading, and (c) remains the same.

MR. SEAL:  Okay.

MS. SEBALJ:  It's JTC 2.6 -- no, 2.7, apologies.
UNDERTAKING NO. JTC2.7:  TO RERUN MODEL WITH A CONSUMPTION ESTIMATE OF 334 FOR THE FIRST 9 MONTHS THEN 3 MONTHS, AND AGAIN WITH TWO SIX MONTH PERIODS.

MR. O'LEARY:  And then SSMWG IR No. 27, you refer us to your response to VECC No. 8, so why don't we go there?

Just at the outset, I think Mike may have some questions.  We just want to understand what you've been doing here.

But in the -- in your supplementary evidence, you had determined a revenue-to-cost ratio of 104.7, and then with the changes you made as a result of the interrogatories, that was revised to 100.5, right?

MR. SEAL:  Right.

MR. O'LEARY:  So for the purposes of your response to VECC 8, are we to assume that you have adjusted for that revenue sufficiency to the tune of 104.7, or only 100.5?

MR. SEAL:  100.5.

MR. O'LEARY:  So you are not relying on the --


MR. SEAL:  No.  No, this is all with the corrected data.

MR. O'LEARY:  Got you.

MR. ROGER:  If I understand correctly, for Quadlogic the fixed charge would be $16.29?

MR. SEAL:  That's what we calculated.  That's right.

MR. ROGER:  And for residential class, it would be $20.16?

MR. SEAL:  Correct.

MR. ROGER:  And this is using the same proportion of fixed versus variable revenues you are collecting right now?

MR. SEAL:  Under the existing residential rate, yes.

MR. ROGER:  But if you go to cost allocation -- I don't know if you can do that, but if you go to the cost allocation model, you know that there is an output there that looks at three different ways of calculating the fixed charge?

MR. SEAL:  Yes.

MR. ROGER:  It's 02, right?

MR. SEAL:  Yeah.

MR. ROGER:  And for residential class in the outdated run that you provided, I think the range for the fixed charge is between 4.52 and 20.35; do you see that?

MR. SEAL:  Yeah.

MR. ROGER:  But the fixed charge that you're proposing for residential customers in the VECC interrogatory is 20.16, which is very close to the fully loaded charge; correct?

MR. SEAL:  It's close to the calculated ceiling.

MR. ROGER:  Fully loaded?  Yeah.  Okay.

But if you look at the same output sheet, 02, from the cost allocation model for the Quadlogic, the range there goes from $12.71 to $23.76?

MR. SEAL:  Yes.

MR. ROGER:  But the fixed charge for Quadlogic that is being proposed is $16.29, which is substantially lower than the fully loaded than it is for the residential class.

Wouldn't that sort of -- wouldn't you agree that probably the fixed charge for Quadlogic should be higher than $16.29, to recover the same proportion of fixed cost that the rest of the residential classes will be recovering?

MR. SEAL:  Well, I've explained exactly how I came up with the rates that I came up with, which was using the existing fixed and variable proportions that were coming from the class as a whole.  I believe that's a reasonable way of allocating the fixed and variable costs for both classes.

So that's the number I came up with.  I agree that it's different than the number that the Board's cost allocation model comes up with in that 02 table.  Agree, the different methodologies, different results.

MR. ROGER:  And then -- so in summary for the Quadlogic class at that rate of $16 will be recovering less of the fixed costs than you will be recovering in your residential class, compared to the cost allocation model?

MR. SEAL:  I will be recovering the same proportion from both the Quadlogic class and from the rest of the residential class from the fixed component under my proposed rates.

MR. ROGER:  No, you wouldn't, because --


MR. SEAL:  Yes, I would.  I would be getting 64 percent of the revenue from the customer charge for both classes.

MR. ROGER:  But is the cost allocation model, you're saying, that if fully loaded, fixed charge --


MR. SEAL:  Again, that's not -- I agree that those numbers are calculated in a different way than I calculate mine.

What I've said is I'm treating both the remaining residential class and the Quadlogic class similarly, in that I'm recovering the same fixed -- the same revenue requirement from the fixed and the variable for both classes.

MR. ROGER:  But the fixed charge will be recovered in less of the fixed cost if you go back to the cost allocation model.  That's the point that I'm trying to make.

MR. SEAL:  What I'm saying is it's going to recover exactly the same proportion of revenue requirement from the Quadlogic class as the remaining class.  This isn't talking to what the costs -- they are different methodologies.

MR. O'LEARY:  All right.  Well, while we're on the subject of rate design here, can I ask you if -- let's assume hypothetically that ultimately the Board finds that there is a deficiency of approximately 90.2 percent.  Let's use 10 percent as being the number for our discussion.  All right?

One way to deal with that would be to - correct me if I'm wrong - but would be to take the fixed component of the residential rate and charge an additional 10 percent to the Quadlogic class, and to also increase the variable component by 10 percent?  Wouldn't that be one way to deal with it?

MR. SEAL:  That would be one way.

MR. O'LEARY:  All right.  If, for example, the Board decided they wanted to include some sort of a rate rider or rate adder, which was a Quadlogic meter rate rider, rate adder, is it possible to come up with a fixed monthly charge?  And if so -- I'm going to have Mike describe how we do it -- would you agree with it?

MR. ROGER:  In the example, let's say that the revenue-to-cost ratio from the cost allocation turns out to be 0.9.  So you want to set rates that are based on a revenue-to-cost ratio equal to one.

And let's say for example that the rates that are here -– let's say the 16.29 -- reflects a revenue-to-cost ratio of 0.9.  You could increase the rate by 10 percent, and that would give you, for the fixed portion, a rider that will recover the difference between a revenue-to-cost ratio of one versus the 0.9.

MR. SEAL:  I think you would have to apply it to both, wouldn't you?

MR. ROGER:  Yeah.  No, that's the fixed component.  And then for the variable component, what you could do is also estimate the difference, right?  Between the volumetric rate at 0.9, revenue-to-cost ratios, and at one?  You could determine the amount of dollars that you would collect by multiplying by the yearly energy, and translate that into a fixed charge by dividing by the number of customers on the number of bills.

So you could recover, in theory, the volumetric difference through a fixed charge through another rate rider.

MR. SEAL:  I mean, yes, in theory you could do that.  Whether it's appropriate or not, I would say it's not, but...

MR. ROGER:  But theoretically, it would give you the same value?

MR. SEAL:  The beauty of rate design; many ways to get to the same answer.

MR. O'LEARY:  I think those are our questions.  Thank you, panel.  I will reserve the right to jump in if there's another question that comes up that we think needs a little further explanation, but I hopefully won't have to do that.

MS. SEBALJ:  Mike, did you want to go ahead?
Questions by Mr. Buonaguro


MR. BUONAGURO:  Yes, thank you.  One minute into the afternoon, so good afternoon, panel.  I have distributed a paper copy of our questions to help us along.  Perhaps -- and I've given a copy to Board Staff and to the reporter.  So maybe we can give that an exhibit number.

MS. SEBALJ:  Sure.  It's KTC2.1.
EXHIBIT NO. KTC2.1:  VECC TECHNICAL CONFERENCE QUESTIONS.

MR. BUONAGURO:  The first thing I will do is correct it.  I have noticed with some embarrassment that throughout the document, we've referred to something called a "Quadralogic meter", but obviously that should throughout be called Quadlogic.  So I hereby deem Quadralogic to mean the same thing as Quadlogic for the purposes of the proceeding.

What I'll do is I'll go through the questions in the order they are on the paper, and I won't read them necessarily verbatim, but get enough on the record so we know which question we're talking about and try to get some answers.

So Question No. 1, the reference was OEB Staff IR 1(c). And this is talking about condominiums and apartment buildings, and specifically the common areas.  And the two questions we had with respect to this interrogatory response are these:  First, part (a), in the case of Condominium Corporations served at primary voltage, i.e., they only their own transformer, how is the dollar value of the transformer ownership discount determined, and is the full amount remitted to the corporation?

MR. SEAL:  Yes, it is based on the total load of the bulk meter in both cases, in (a) and (b).

MR. BUONAGURO:  So (b) asks about apartment buildings, and the answer is the same?

MR. SEAL:  Yes.

MR. BUONAGURO:  Then the full amount is remitted to the owner?

MR. SEAL:  Correct.

MR. BUONAGURO:  Thank you.  Question 2, the reference there was OEB Staff IR No. 6, both (a) and (b).  You've gone into this already with my friend, Mr. O'Leary.

We asked the simple question:
"How are the Quadlogic meters reading costs of $1.58 and $2.75 determined?"


I think I have your answer in parts from the previous questions, but perhaps you can give me sort of a simple answer.  How does one get to 1.58 in the first place and how does one get to 2.75?

MR. MARCHANT:  So the simple answer is the 2.75 is our cost with our current provider, so it's 2.75 per meter per month.  And the 1.58 was our budgeted cost or our cost for operating the system, so that includes people that read the meters, ongoing software licences, that sort of thing.

So we took the total cost to run the system divided by the number of meters we project.

MR. BUONAGURO:  Thank you.  And I think there is some more detail on that from the previous questions, but that is sort the high level.

MR. MARCHANT:  Yes.

MR. BUONAGURO:  Thank you for that.

Moving right along, Question No. 3, the reference was OEB Staff IR No. 7.  I can I think you answered this.  We were suggesting in our question that in IR No. 7 the movement from 12 to six may have been reversed.  But I think you've answered, No, no, that's actually what you meant to do.  Perhaps you can just give me a recap of why that is.

MR. SEAL:  Again, I was describing how I came up with that number.  Our filed study has 12 -- the 12 reads in it, and to come up with the three-fifty-three, I just reduced that to six to see what the delta was.  That's why I said it went from 12 to six to come up with a number.  So that's the impact going from six to 12 or 12 to six.

MR. BUONAGURO:  Thank you.  That helps.

Question No. 4, and the references here are OEB Staff IR No. 9, first of all, and the question is:  Can you please indicate if any changes were made as between the cost allocation filed with the original September 30th, 2011 evidence and the updated one filed on November 4th, other than the change discussed in OEB Staff 17(b) and SSMWG Interrogatory No. 17 and No. 25?

So is there anything beyond the changes discussed in those IR responses reflected in the November 4th cost allocation?

MR. SEAL:  The short answer is no.  The only changes we made were to correct for the meter cost for the LDC 1 type meters -- sorry, LDC 2 type meters, and the bad debt, late payment penalty values that we had in the original.

MR. BUONAGURO:  Then the second part of our question is this, if you could update the response to SSMWG 2 to reflect the revised cost allocation model, and I think that just means adding the references to the assumptions, completing the list of assumptions in SSWMG No. 2, which I can just show you what I mean.  I think you are just adding those issues to this list of issues.  If you could do an update?

MR. SEAL:  Yes, I can do that.

MR. BUONAGURO:  Thank you.

MS. SEBALJ:  It's JTC2.8.

MR. SEAL:  Sorry, just before -- this exhibit describes the differences between the BDR study and what we updated for updated.  The two additional items that we were just talking about are corrections to my exhibit.  They aren't changes between BDR and what we have right now.

I just want to be clear on that.

MR. BUONAGURO:  What you are saying is that in terms of filling out a detailed listing of assumptions, you don't need to update --


MR. SEAL:  Exactly.  This was pointing out where in evidence we talked about the differences between the BDR study and our filed updated study.  That's what the purpose of this was.

MR. BUONAGURO:  Okay.

MR. SEAL:  These are just corrections we discovered.

MR. BUONAGURO:  I appreciate that, and you're right, then, technically what I've asked you to do is unnecessary.  Perhaps, though, what I could do to make sure we track the changes that were made is maybe add corrections, and then you can describe the corrections in the November 4th, so that we have all of the assumptions and corrections in one place.  That's all.

MR. SEAL:  I could do that.  I'm just wondering -- we filed the updated evidence.  We filed the letter with it, which I think is on record saying, Here are the corrections that we made.

MR. BUONAGURO:  That's fine.

MR. SEAL:  Is that sufficient, then?  One less undertaking.

MR. BUONAGURO:  I'm feeling magnanimous today, I think is the word.  Thank you.

Question 5, and the reference here was OEB Staff IR No. 10.

I guess that undertaking is no longer necessary, for the record.

So back to our question 5, and the reference is IR No. 10.  I think you went through this already with my friend, but just confirm, our first question was:
"Please clarify whether the results reported for the direct allocation approach..."


And then we gave two options.  One was:
"Allocated the remaining metering costs to all classes..."

And then the remaining one was:
"Allocated none of the remaining metering costs to the Quadralogic class..."

I think your answer was it's the first one?

MR. SEAL:  Correct.

MR. BUONAGURO:  The problem was -- I'm just going to restate it, and then you can tell me if I've understood it.

The problem was is that you directly allocated all the Quadlogic meter costs to the Quadlogic class, but then you had a problem, because you were still having to allocate a portion of all the remaining meter costs to the Quadlogic class for the cost allocation model, and that that had the unfortunate consequence of over-allocating meter costs to the Quadlogic class, since they are getting a portion of meters -- meter costs that don't have anything to do with the Quadlogic class?

MR. SEAL:  That's correct.

MR. BUONAGURO:  Then the problem -- and this relates to part two.  The problem is that you still legitimately have to allocate some portion of the wholesale meter costs to the Quadlogic class; is that correct?

MR. SEAL:  That's what I think would be appropriate still.

MR. BUONAGURO:  And the problem is how to do that when you're -- at the same time you are directly allocating the Quadlogic class and, therefore, you have to mess around with the weighting in the cost allocation model for the remaining meter costs after the direct allocation is done?

MR. SEAL:  I mean, the weighting is one way you could get it, which would be a little indirect, or another more direct method is to estimate those costs, which I've already said would be difficult to do.

MR. BUONAGURO:  That was our question (b).  In theory, what you could do is try and isolate the wholesale meter costs, and then allocate them.  I think you are agreeing, in theory, that's possible, but then you have talked at length about the practical problems of doing that?

MR. SEAL:  Exactly.  In theory, it is possible.  I think it would be very difficult to do.

MR. BUONAGURO:  Thank you.  Moving onto question 6, the reference there is OEB Staff IR No. 16.  Part (a) of our question was that the response at OEB Staff IR 16 talks about the Quadlogic meters being read daily.  However, the response to Staff IR 7 states they are read monthly.  Please reconcile.

I think I understand maybe, from the conversation you've had today, what the difference is, but perhaps you can just answer the question for the record?

MR. SEAL:  So, again, the reality is that these meters, these electronic meters, are read daily and not -- read daily, billed monthly.

MR. BUONAGURO:  And so what we're concerned about here is the monthly reading, I think.

MR. SEAL:  This particular component of the cost allocation model deals with meter reading costs.

MR. BUONAGURO:  Right.  Thank you.

Part (b), the response to part (b) of OEB Staff No. 16 states the smart meters for non-Quadlogic residential customers and the meters for Quadlogic residential customers both read daily, as you've said.

If this is the case, why, in sheet -- I think it's I 7, or is that L 7?

MR. SEAL:  It's I 7.

MR. BUONAGURO:  I 7.2 is a factor of six used for the other residential customers and a factor of 12 used for the Quadlogic customers?

And then we've given you the reference for the cells where we've noticed this, D28 and G37.

MR. SEAL:  I tried to explain that this morning, perhaps not very well, but --


MR. BUONAGURO:  It might have been perfect and I just didn't understand, so don't be so hard on yourself.

MR. SEAL:  I will accept that.

The meter reading cost component of the cost allocation model is where it tries to allocate across the different classes the overall meter reading cost bucket.  And to do that, it takes the meter numbers, the reading costs, the relative reading costs, to do that allocation across all classes.

So to make sure we treat all classes equally in how we allocate those costs, we've essentially weighted their meter reading -- or meter numbers by how many times they're billed, really, to reflect -- and that's supposed to reflect essentially some of the reading costs -- before you bill a customer, you have to make sure their data is good.  So if you are billing six times a year versus 12, they reading costs are likely higher.

So again, to treat them all equally, because you'll see the other classes that are billed on a monthly basis all get this 12 weighting.

So since the Quadlogic are being billed on a monthly basis, we wanted to treat them the same as every other class in terms of the weighting, the appropriate weighting, and that's why we did that correction.

MR. BUONAGURO:  Put more simply, even though they are both technically read daily, they are billed on different cycles, one bimonthly and one monthly, and that results in the six weighting in the one instance and the 12 in the other?

MR. SEAL:  That's right.

MR. BUONAGURO:  Now, I've asked a third question under 6, 6(c), which is:

"Please provide a revised cost allocation that uses a factor of 12 in both cases, or alternatively report the sensitivity of the revenue-to-cost ratios to using 12 in both cases."

Now, on the fly, what I'm understanding you to be saying is that what we would be doing there is assuming, in the case of residential smart meters, a billing cycle of 12 months instead of six, if I were to ask you to do that.  You kind of look like you're running into the model?

MR. SEAL:  Yeah, and I'm a little hesitant to make these changes on the fly, to be honest.

MR. BUONAGURO:  Before I'm asking you to do that, I'm asking you the first question, which is that, based on what you've now explained to me, the difference between six and 12 is based on the billing.

So by asking you to do that, what I'm saying is pretend that residential smart meter customers are being billed 12 times a year even though they are only being billed six.  Right?  That the first implication of my asking that question.  Right?

MR. SEAL:  So if I assume -- if I give them a weight of 12 instead of six, the revenue-to-cost ratio goes to 103.3.

MR. BUONAGURO:  Which starting point are you using from that?  Is that the 89.5, I think?  You're talking about the residential –

MR. SEAL:  Sorry, the 103.3 is the Quadlogic class.


MR. BUONAGURO:  103.3?

MR. SEAL:  The Quadlogic class goes up to 103.3.

MR. BUONAGURO:  From 100.5?

MR. SEAL:  Right.

MR. BUONAGURO:  Okay.

MR. SEAL:  The residential class goes to 88.7 from...

MR. BUONAGURO:  I think it's 89.5, or something like that?

All you're really doing there is making an assumption now that I'm asking you to do, which is that you're assuming that the residential customers are going to monthly billing, essentially, based on why you did it in the first place?

MR. SEAL:  What I've done is change that six weighting to a 12, for the residential class, see what impact it has on the model.  Without fully thinking through the implications of what I'm doing there, that's the numbers that fall out.

MR. BUONAGURO:  If I understand what you're telling, though, is that if I asked you would that be appropriate, I think you would be saying:  Well, they're not being billed monthly.

MR. SEAL:  No.

MR. BUONAGURO:  Okay.  Thank you.

Question No. 7 – and the reference there was SSMWG IR No. 6(d), IR No. 6(d) -- and that was a question about the warranty arrangements, and we're asking sort of a simple question:  In view of the warranty arrangements for Quadlogic meters, is it likely that the Board's cost allocation model over-allocates 2012 O&M costs to Quadlogic meters?  Is that a concern that we should have?

MR. SEAL:  I'm not sure I totally understand.  Are you implying that general warranty costs or maintenance costs for all classes are part of the OM&A, and therefore, since these guys aren't incurring any maintenance costs, they shouldn't be getting any of the OM&A related to maintenance costs of all the other meters?

MR. BUONAGURO:  Something along those lines.  If I go to the IR, just for reference, 6(d), it says:

"Quadlogic meters are not expected to have any material maintenance costs in 2012, as most meter replacements and maintenance costs are covered under warranty."

I guess I'm just following up on that, and saying, well, if that's the case, then why would you allocate maintenance costs in 2012 to the meters for at least the 2012 meters?

I think what you are saying -– would it be the case that that's true of all meters?  And therefore it's just a -- even though we've highlighted that for the 2012 meters you put in this year for Quadlogic, the same could be said for any meter?  It has the same sort of -- generally has the same warranty coverage and...

MR. SEAL:  That's true.  That's right.

MR. BUONAGURO:  We're only talking, I guess, about the first year of the cost.  I don't know what the warranty periods are for these.

MR. SEAL:  Three-year warranty.

MR. BUONAGURO:  Three years.  Is that a general warranty period for meters?

I'm just exploring whether there's an issue here about them having an extraordinary warranty compared to everything else you have that might impact the OMA costs that should be allocated to them.

MR. MARCHANT:  The Quadlogic, so they have a three-year replacement warranty, and our Ulster meters are a two-year, so it's not extraordinarily different than other meter classes.

MR. BUONAGURO:  I think the useful lives for both the residential smart meters and the Quadlogic meters is assumed to be around 15 years?

MR. MARCHANT:  That's correct.

MR. BUONAGURO:  So you are saying -- I think you're suggesting to me that a two-year warranty in the one case and a three-year warranty in the other case, when the lives are supposed to be 15 years, is not huge in terms of --


MR. MARCHANT:  Yeah.  I mean, it's not a huge, huge impact on cost.

MR. BUONAGURO:  Thank you.

Moving on to Question 8 –- and the reference here is VECC IR No. 7 -- and you'll see in the preamble to the question, I've set out the revenue-to-cost ratios that fall out of the November 4th cost allocation.  And I'm taking the -- you'll see I've highlighted the second table, which is the -- my understanding is this isn't the revenue-to-cost ratio that's come out of the rates that's flow out of EB-2010-0142, that revenue requirement.

I only mention that because there's the first table, which I presume is based on the rate filing which is pending before the Board.

MR. SEAL:  Right.  So the revenue requirement is the same.  These are the revenue-to-cost ratios before any rate design.

MR. BUONAGURO:  So for reference purposes, I'm only deal with the second table, which has, for example, residential, 89.1 percent.

Now, the question I have -- that in that table, we note the Quadlogic ratio -- well, let me put it this way.  The Quadlogic ratio is, in this table, 100.5 percent, and we think that's of note.  The GS 1,000 to 5,000 is 124 percent, which we think is of note, and the large user ratio is 120 percent, which we think of is of note.

Would you agree that, assuming these are the ratios that were to go before the Board and the Board accepts that you have to make a separate rate class for Quadlogic, or that's the fallout of this proceeding and these are the ratios that come out of it, that, one, the Quadlogic ratio, to the extent it exceeds 100 percent, would need to be adjusted downwards 100 percent; the GS 1,000 to 5,000 would -- at a current level of 124 percent exceeds the Board target range for that class, and, therefore, it would have to come down to 120 percent; and the large user rates, similarly, at 120 percent, exceeds the Board's target range ceiling for that class of 115 percent, so, therefore, would also have to come down?  Would you agree that those three changes would have to be made?

MR. SEAL:  So, yes, we would agree with that.

MR. BUONAGURO:  Then part (b) says, assuming you agree, or whether or not you agree, if you could make adjustments to do that - so move the Quadlogic rate class to 100 percent, the GS 1,000 to 5,000 to 120 percent, and large user to 115 percent, and then make up the revenue shortfall by, first, increasing the street light ratio to 89.1 percent, and then increasing the ratios for street lights in residential in tandem to the point where the shortfall is eliminated.


So this is essentially, based on this outcome, show what the impact would be on other rate classes, and specifically in this proposal street lights and residential, in order to achieve what we think would be at least one appropriate set of revenue-to-cost ratios?

MR. SEAL:  So I'm a little confused.  I think I understand what you're looking for, but I'm a little confused.  So if I'm going to bring down the GS 1 to 5 in the large user class and the Quadlogic ratios, that revenue has to go somewhere else.

So I think in your first question you are saying increase the street light -- give it to the street light only?

MR. BUONAGURO:  No.  I'm saying the way you would approach it is take -- and this is sort of the high-level principle that we tend to -- as you know, tend to advance, is that you would take the class -- assuming that no classes are below the range, you would take the class that is the most below one and start with them until you hit the next lowest.

So in this case, street light is 73.7.  You would first funnel the required revenue into that class until you hit the next class that is below one, which happens to go be residential, 89.1, and then you move up together.  So at the end of the exercise, unless street lighting can absorb all the revenue before it hits 89.1, which I doubt, you would have a residential revenue-cost ratio and a street light revenue-cost ratio which would be identical.

MR. SEAL:  So it's one scenario?

MR. BUONAGURO:  It's just one scenario.  Maybe it's just the way I said it now.

MR. SEAL:  Yes, I understand it now.  Yes, we can do that.

MR. BUONAGURO:  Now, question 9, which has a number of parts --


MS. SEBALJ:  Did you want an undertaking for that, I assume?

MR. BUONAGURO:  That would be good.  Thank you.

MS. SEBALJ:  It is JTC2.8.
UNDERTAKING NO. JTC2.8:  TO RESPOND TO VECC TCQ NO. 2.8 RE VECC IR NO. 7.

MR. BUONAGURO:  Thank you.  Question 9 --


MR. O'LEARY:  If I could, I hesitate to interrupt, but I'm just curious.  Is it going to be VECC's position in this phase of the proceeding that one of the issues that is live is whether or not there should be a reallocation of the other rate classes to try and bring it within more appropriate standards?

I don't understand that as being an issue that's on the table here.  If it is, I think there's going to be a lot of parties that will want to become involved in this proceeding.

MR. BUONAGURO:  The issue is that to the extent that this particular issue has an impact on the revenue-to-cost ratios across the board, which it does certainly in, for example, the residential rate class, there may be consequences in order to make sure that all of the revenue-cost ratios are appropriate.  Right now, all I'm doing is asking a technical conference question to find out what the impact of what we might think is an appropriate way to deal with that would be.

Whether or not that actually is to be done at the end of the day will, A depend on what the actual revenue-cost ratios are, but also B, I guess you can argue we shouldn't do anything.  But it is an issue.

MR. O'LEARY:  There's no question that if you create a new rate class, it's going to have an impact on at least some of the allocations to some of the other rate classes.  But my concern is that if you're trying to turn this phase of the proceeding into whether there should be changes to the revenue-cost ratios for other rate classes, I certainly don't interpret that as being a live issue in this phase of the proceeding.

That's always been an issue, and has been for many years, generally, but I don't see it as -- if it is, I think that's something that you need to alert the Board to, because I don't think it is on the table.

MR. BUONAGURO:  I don't know what to say except noted.

MS. SEBALJ:  I don't think there is anything much we can do about it at this point.  I guess the question will for the Panel as to whether that is done in proceeding or in the rates filing that has already been made by THESL.  But we'll note it for the record.

MR. BUONAGURO:  Thank you.  So Question No. 9 from our list of questions, part (a), so is reference there is VECC 10(c) and (d).  Since there are a number of questions here, I'll read into the record the actual responses.  Part (c) is:
"THESL believes that the value calculated for the secondary customer base already reflects a reduced allocation of secondary costs of class and appropriately allocates the secondary costs of class rather than using number of buildings."


And then part (d), the answer was:
"Using number of buildings for the CCS allocator for the Quadlogic class increases the revenue-cost ratio for the class from 100.5 to 102.8."


Now, the questions we had are these.  Is it fair to say that the costs in the accounts referenced in this question -- and you'll see the different accounts referred to.  I think it's at part (b), accounts 1830-4, 1830-5, 1835-4, 1835-5, 1840-4, 1840-5, 1845-4, 1845-5, 1850-4, 1850-5.

Is it fair to say that the costs in the accounts referenced are split between demand and customer in an attempt to recognize that a portion of a distribution system is in place simply to connect customers to the system regardless of their size?

[Witness panel confers]

MR. SEAL:  The easy part of the question is the first part.  Yes, I do agree that the costs are split between demand and customer as an allocator, that is true.

To recognize that a portion of the distribution system is in place simply to connect customers to the system regardless of size, that one I'm having more trouble with.  The customer part is allocated using the customer allocators.

So some of those allocators are total customer.  Some are, as we've indicated, for secondary, some reduced level of customers reflecting what we think is an appropriate portion that should be allocated to them.

So I'm not so sure it's regardless of their size.  It's in recognition of their proportion of costs, I guess, or attempt to, anyway.

MR. BUONAGURO:  But at some level, there's going to be a cost to simply connect the customer, and that's regardless of size, I guess is the simple way of putting it.

MR. SEAL:  Well, the costs to connect the customer aren't necessarily regardless of the size of the customer.  We know that.

MR. BUONAGURO:  Are not, you're saying?

MR. SEAL:  Are not.

MR. BUONAGURO:  Wouldn't there be a set of costs to connect the customer -- I guess the question talks about the distribution system being in place, and there's a level at which a customer, regardless of size -- regardless of size -- is going to access that distribution system.

And I guess there would be factors that the bigger the customer, the more costs are incurred, but there's also a level which, it doesn't matter what size the customer is, they're going to be accessing the distribution system?

MR. SEAL:  I'm not sure, Mike.  I'm not sure I can answer that.

MR. BUONAGURO:  All right.  I'll try to answer the next question, although you didn't agree with me to the first part, so...

Would you agree that for the portion of the costs identified with establishing connections –- and you can see I'm paraphrasing the question -- the number of connections by customer class is a more appropriate allocator than the number of customers?

MR. SEAL:  I guess this is where I think we've treated it properly in the model the way we've treated it.

So it's a reduced number of customers, not connections.

MR. BUONAGURO:  So you're saying no?

MR. SEAL:  I guess so.

MR. BUONAGURO:  Which leads me to the second part, which presumes that you said no.

The question is:  If not, why would that be, since the pole/wire/transformer costs for setting up a minimum system to supply a connection point are the same, regardless of the number of actual customers on the other side of the connection?

MR. BUONAGURO:  If it helps, you can see the next part, which says specifically:

"Doesn't the number of buildings associated with the customers in the Quadlogic class more closely represent the number of connections this class has with the THESL system than with the total number of customers?"

MR. SEAL:  Well, maybe that's an easier one.  I think -- it possibly more appropriately reflects the physical characteristics, the connections.

But what I'm saying is our adjustment to the customer number that's we've done, the eight percent of those customers are being served, and therefore it's those customers that are being served by those assets.

And so it's the customers as a proportion of the all the customers on the system, is the way to allocate it.  Not buildings for one class, customers for another class.  That's what I'm getting at.

MR. BUONAGURO:  Okay.  So you're saying you're looking at the eight percent of total customers regardless of the fact that these eight percent of customers have, I would assume, a disproportionately low number of connections to the system?

MR. SEAL:  That's right.  I think it's appropriately weighting it.

MR. BUONAGURO:  Part (d), we noticed in sheet I 6.2 that for street lights, the values for both CCP and CCS are one.

Does this mean that the allocator used to apportion the customer-related costs established for these accounts to street lights is one, which assumes there is only one connection for all street lights?

MR. SEAL:  So in the cost allocation, again, the logic of the cost allocation model, it actually takes the connections, which are up on CCON, line 19, for the street lighting USO classes.

This is -- so the second part of your question here is:  Why isn't it more appropriate to use the street light connections?  Well, that's what actually gets used in the model.

MR. BUONAGURO:  So the answer to my question is no, we've misread that; it actually does use connections?

MR. SEAL:  Yeah.

MR. BUONAGURO:  Thank you.

And it's CCON, I think you said?

MR. SEAL:  That is the -- yes, the allocator.

MR. BUONAGURO:  Thank you.

Part (e) of our question:

"Can you confirm that the 102.8% ratio reported in the response to part (d)..."

Of Exhibit R4, tab 4, schedule 10.
"...represents the results if the Quadralogic (sic) class' allocator used for the customer portion of just the secondary costs associated with USOA Accounts 1830, 1835, 1840, 1845, and 1850 is number of buildings instead of the number of customers?"

MR. SEAL:  I think the answer is yes, and just let me explain exactly how I came up with that 102.8.

In the cost allocation model, where the CCLT and CCS allocators are right now, and reflect 1,992 customers -- so that's eight percent of these suite meters customers -- I just replaced those values with 113, the number of buildings.

So it was the line transformer customer base and the secondary customer base; those two values is what I replaced, to come up with the 102.

MR. BUONAGURO:  And you'll see in the question -- because you have the written version in front of you – that we underlined "just the secondary."

Can you confirm that the way you did that, the 102.8 is just the secondary costs?  Because you'll see part (f) of our question is that we originally asked for the calculation to be done assuming the Quadlogic class' allocator used for the customer portion of both secondary and primary costs associated with the same accounts is the number of buildings instead of the number of customers.

MR. SEAL:  Just give me one second, Mike?

MR. BUONAGURO:  Sure.

MR. SEAL:  So for part (e) of your question, just to confirm, it isn't just secondary costs, which would be the CCS allocator.  But as I said, I also changed the line transformer customer base number.

So those two values are what I adjusted to come up with the answer to this interrogatory.

MR. BUONAGURO:  Are you telling me that part (f), then, is unnecessary, because that's what this answer says?  Or no?

MR. SEAL:  That's just line transformer and secondary.  You are asking for primary costs?

MR. BUONAGURO:  Right.

MR. SEAL:  So I mean, I can replace the primary customer number with number of buildings.  I think it's inappropriate in this case, but I can do that.

MR. BUONAGURO:  And that will answer part (f)?

MR. SEAL:  Yes.  And I can do that -- well, again, do I dangerously do this on the fly?

MR. BUONAGURO:  We can do it by undertaking, but I guess you just have to change numbers.

MR. SEAL:  I need to make sure it's all working properly.  So I'll do that one through an undertaking.

MR. BUONAGURO:  Thank you.

MS. SEBALJ:  JTC2.9.
UNDERTAKING no. JTC2.9:  TO RUN CALCULATION REQUESTED IN KTC2.1, TECHNICAL CONFERENCE QUESTIONS FROM VECC, QUESTION NO. 9(F).

MR. BUONAGURO:  Since I may have muddled that up, it's to run the calculation requested in KTC2.1, Technical Conference questions from VECC, question No. 9(f).

Thank you.  Those are my questions.

MS. SEBALJ:  Ms. Girvan is indicating she doesn't have any question, so that leaves us.  And I think we only have a few, for those whose stomachs are growling, so we're going to try and press on and get it done.
Questions by Mr. Davies


MR. DAVIES:  So the first question Staff has relates to Board Staff Interrogatory No. 6, which we've looked at a couple of times already, and the question really relates to the numbers in parts (a) and part (b).

Specifically, when you're looking at the weighting factor costs for the Quadlogic meters of 2.75 in the BDR study versus the $1.58 in the updated study, would it be correct to summarize that the reason for that change would be related to the moving of the reading of the meters in house as a  cost decreasing factor, partially offset by the changed assumption that meter reads would occur every month instead of every two months as originally assumed?

[Witness panel confers]

MR. MARCHANT:  Basically, the costs, the 2.75 versus 1.58, are identical in terms of meter reading, so it's not really a factor.  The factor is just bringing the -- that service in house.

MR. DAVIES:  So the change is purely related to bringing the service in house?

MR. MARCHANT:  Correct.

MR. DAVIES:  That's the only factor?

MR. MARCHANT:  Correct.  We've always billed monthly, so that's not a factor.

MR. DAVIES:  For the other costs, the 39 cents for the outside residential meter and the 43 cents for the residential smart meters, could you just explain the difference there?

MR. MARCHANT:  You want an explanation of the change from 39 to 43?

MR. DAVIES:  Yes.

[Witness panel confers]

MR. MARCHANT:  So the slight difference between those two numbers, the 39 cents still includes a component of manual meter reading, because we're switching to smart meters, and the 43 cents per meter per month is now the cost -- our cost to actually read those meters.  So that's the slight difference in those two.

MR. DAVIES:  The next question relates to Staff Interrogatory No. 8, and the question would be that part (b) of the response -- or part (b) of the interrogatory asked you to state why in 2012 no marketing expenses were allocated directly to the suite meter class.

And the response was that, quote:
"No such expenses were included in the overall THESL budget and, hence, there were no costs to be directly allocated to the Quadlogic class."

And then you say:
"Please see response to SSMWG Interrogatory 10."

I'm just wondering.  Your response doesn't really seem to explain why no such expenses were included in the budget, and the response to SSMWG No. 10 also didn't really seem to explain why there was nothing included in the budget.

Could you just explain a little more the "why" as to the reason why those expenses were adjusted or not included?

MR. MARCHANT:  To expand on our answer a bit further, when we first set up the smart metering business, the 90,000 reflects a lot of marketing materials and development work we were doing at the time.  Our business has really shifted to almost -- or almost exclusively new buildings, or predominantly new buildings.  So that's more of a key account strategy where it's a one-to-one sales, so we don't really see the need for mass marketing.

Everyone knows we're in the smart metering business, and the developers certainly know who the players are.  We also in our new RFP include some of the marketing costs and put that out with the vendor themselves, so that explains the zero dollars there.

MR. DAVIES:  Thank you.  The next question relates to your response to VECC No. 4, and it also relates to the model itself.  Now, when we look at the model, it's described as being for proceeding EB-2011-0144, which of course is the 2012 cost of service application.

And in your response to VECC No. 4 you state, when discussing the cost allocation model in part (a) of that response, that:
"The value for street lighting the incorrect in the EB-2011-0144 filing and will be corrected in that process."

And in part (b) that:
"The EB-2011-0144 filing was developed on the basis of the existing residential class.  If as a result of this phase of the EB-2011-0142 hearing the Board orders the establishment of a Quadlogic class, THESL will update the EB-2011-0144 cost allocation and rate design evidence."

And the question would be:  Could you just clarify or summarize how the revised cost allocation model filed with the interrogatory responses in this proceeding relates to the cost allocation model that has been filed in the 2011-0144 proceeding?

MR. SEAL:  The only difference -- the only difference there should be - we've noted this one error in the street lighting number - should be that we've separated out the Quadlogic class in this particular filing for this hearing.

We've used the same revenue or overall requested revenue requirement as in the 2011-0144 hearing, and all the component costs that we filed in that hearing are what's used in this model.  So, as I said, the only difference is for this particular case we separated out the Quadlogic class from the residential class.

MR. DAVIES:  So is there any need, then, to correct the value for street lighting in the other proceeding?

MR. SEAL:  I believe that's what we've indicated we would do.  The last part of part (a) of that response says we'll correct it in that proceeding.

MR. DAVIES:  So that is the only thing that would need to be done in the other proceeding as a result of -- to conform the two models, except for the splitting of the class?

MR. SEAL:  That's right.  That's right.  We did indicate in another interrogatory response that the meter reading values needed to be updated in the 2011-0144 hearing, as well.

MR. DAVIES:  The last question just relates to one of the sheets, one of the work sheets in the cost allocation model, and it is specifically work sheet I6.2.

MR. SEAL:  Yes, I have.

MR. DAVIES:  In that work sheet, there's a note that says right there, "Bad debt and late payment charges corrected for wrong cell references."  Could you just state which corrections to the spreadsheet were made relating to that note?

MR. SEAL:  Certainly.  It's the values that are shown under the bad debt three-year historical average and late payment three-year historical average, the values for the residential and Quadlogic classes, where we had them incorrect -- incorrectly input them in the original model that we had filed.  So if you have the model in front of you, they are shaded a brown.

MR. DAVIES:  So it's just the two?  Those two numbers are the only...

MR. SEAL:  The ones I've highlighted in yellow, now.

MR. DAVIES:  So two that are highlighted in yellow?

MR. SEAL:  Yes.

MS. SEBALJ:  For the record, it's cells D14 and 15 and E14 and 15?

MR. SEAL:  Right.

MR. DAVIES:  The cell reference for the bad debt three-year historical average is, I believe, to cell D38, which is the historic year 2009 cell, rather than the three-year average cell, D41.

Could you state why the 2009 cell is referenced, rather than the three-year average cell?  And related to that, why the historic year numbers are, in any event, all the same for each of the three years?

MR. SEAL:  In the current model, the values for each of the years are the same as the three-year average, so it doesn't make a difference which cell you have.

We need to go back and just make sure that the values we have in for each of the historic years are correct.

MS. SEBALJ:  So it will be -- you're going to do that by way of undertaking, just to confirm?

MR. SEAL:  Certainly.

MS. SEBALJ:  JTC2.10.
UNDERTAKING No. JTC2.10:  WITH REFERENCE TO COST ALLOCATION MODEL WORKSHEET I6.2, EXPLAIN WHY NUMBERS FOR HISTORIC YEARS 2009, 2010 AND 2011 ARE ALL THE SAME.

MR. DAVIES:  Just one final question on that spreadsheet.

Referring to the Quadlogic column, and this is cell E15, the late payment three-year historical average cell contains a formula which has a term called CCAR, C-C-A-R.  That one there, yes.  That's the term.

Could you explain what that term represents?

MR. LAM:  The CCAR is actually part of the OEB's model of labelling.  If you look at what CCAR is, it's actually total number of customers, which is cell D21.

MR. DAVIES:  Okay.

MR. LAM:  So essentially, what I did was basically took the number customers that was forecasted in 2012, and divided it between both the Quadlogic and the residential class.

So CCAR represents what was left of the residential class after the Quadlogic class was taken out.

MR. DAVIES:  Okay.  Thank you.  Those are all of Staff's questions.

MS. SEBALJ:  Unless anyone has anything to add or to follow up, thank you to the panel of witnesses, and we are adjourned for the day.  Thank you.

--- Whereupon the proceeding adjourned at 12:56 p.m.
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